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Declaration : I have read and understood the instructions given below.

Number of Pages in this Question Booklet j

WA-gfeeRt § gl ot HEA

Number of Questions in this Question Booklet} 200

10.

11.

12.

INSTRUCTION TO CANDIDATES
Immediately after getting the booklet read instructions
carefully, mentioned on the frontand back page of the question
booklet and do not open the seal given on the right hand side,
unless asked by the invigilator.

Write your Roll No,, Answer-Shect No., in the specified places
given above and do your signature.

Make all enttries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 200 questions is proper. H any
discrepancy is found, inform the invigilator within
15 minutes and get the correct question booklet.

While answering, the question from the Question Booklet, for
each question choose the correct/ most appropriate option
out of four most appropriate ()pti(ms given, as answer and
darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.
Darken the circle of correct answer properly otherwise answers
willnot be evaluated. The candidate will be fully responsible
for it.

There are 200 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer.

No negative marking will be done.

Do not write anything anywhere in the Question Bookletand
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer-
Sheet is to be handed over to the invigilator. Carbon copy
of the Answer-Sheet and Question Booklet may be taken
away by the examinee.

This Question Paper consists of Three Parts namely :

(i) First Part: PHYSICS - 60 Marks
(ii) Second Part: CHEMISTRY - 60 Marks
(iii) Third Part :  (A) MATHEMATICS - 80 Marks

(B) BIOLOGY - 80 Marks

First & Second parts are compulsory. Candidates are directed
to choose only one subject from Third Part (A) and (B).

In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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First Part TIH I

PHYSICS Wiferes v

1. A mass m is suspended from the two 1. it o9 H \_g’épf 2 foii 9 T m 5 A Ea

coupled spring connected in series. The S ST B Al fogf o & fradrs
force constant for springs are K4 and K,. Ky HKZ’E?f ql ACRIT T EHHA hi AT RTEA
The time period of the suspended mass BT :
will be :
m T m
I=2mw |[——— ['=2m :
) \/(Kl + Ky) (A) \/(K1 + Ky)
(K, + Ko) Ky + Kp)
(B) T=2m \[—(—J_—w-‘—) (B) T=2m Jﬁ 1=
m,_ m
. m(K; + K,) B m(K; + Ky)
oy 1T=2w, \/ e C T=2mw \/——— v XA
(©) K Ko (©) KKy

2.  The flux linked with a coil al any instant 2. fodl 9w ¢ W g q gafud wre

t is given by ¢=101%~500+250. The b =1012— 50t +250 fem N ¥ 1 t=3 ThUS
induced emf at =3 secis: R Yt fo.an. =<t &

(A) 190V (A) 190V

(B) - 190V | (B) — 190V

©) 10V ©) 10V

D) -1V D) — 10V

SPACE FOR ROUGH WORK / 1% &t & o1 S8
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Under minimum deviation condition in

a prism, if a ray is incident at angle 30°,

the angle between the emergent ray and
second refracting surface of the prism is :

(A) 0°

(B) 30°

(C) 45°

(D) 60°

A voltmeter has a resistance 100 Q) and
measure 10 V. How can it be used to
measure 50 Volts ?

(A) 40 Q in series

(B) 40 Q in parallel

(C) 400 Q in series

(D) 400 Q in parallel

A cycle tyre bursts suddenly. This
represents an :

(A) Isothermal process

(B) Isobaric process

(C) Isochoric process

(D) Adiabatic process

Heat current is maximum in which of the
following ? (rods are of identical

dimension)

(4) | Copper |

(B) Copper

Steel

(©) | Steel

(D) - Steel l

Copper

3.

U foon = fomer @t srawen A ¥ 3k
Teh TohT01 30° WR 39T arat &) at fiefa oo
9T Tedita STy a1 % 9% Yo7 By -

(A) 0°
(B) 30°
(C) 45°
(D) 60°

T HeeHeR # 9hkRiY 100 0 § 3R 9
10 V A9 81 FF 9850 V AR F o
SN H A ST ?

(A) Fot 40 O

(B) HHMR H 40 Q

(C) 9ot % 400 O

(D) HHFRR ¥ 400 O

=1 o @ frmd sty urg sfeay anft 2
(|t B 1 3R T9A T)

(A)I |

SPACE FOR ROUGH WORK / 1% & & o we
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7.  Ifenergy of the ground state of Hydrogen 7. 9f% gRSISM WE] % o STee Eale ]

atom is —13.6 eV then find the potential —13.6 eV &, 1l ST feufast =it et
energy :

—m s @ e~
(B) —27.2eV . (B)y —27.é eV
(C) —6.8eV (C) —68¢eV
(D) -13.6 eV (D) -13.6 eV

8.  Four equal capacitors each of capacity C, 8. =il C % 9R WHM Wi fo & IqER
are arranged as shown in figure. The @ T ¥ AT B % e qRemdl Wi

effective capacitance between A and B B

is :

= — |

Ao — ———B A——F ~— —B

\ — |- ' 4L| 1 ‘

|+ : — |

5 5
(A) 3 C (A) g C
(B) % C (B) % C

5 5
© 3¢ © 3¢
(D) C D) C

SPACE FOR ROUGH WORK / TF wrd & fordt sig
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9. A particle is execuling simple periodic 9.  UH %9 TH O ¥@ F 3TN TS STrert
motion along a straight line. The speed T ST G| HOT kT I S Ty frord @
of the particle is found u; and u, at Xq x]vQEf X, @ THAM: v,y g u, LD
and x, dislances respectively from its 3o ST B
mean position. The time period of the
particle would be :
3} 2 -
LY R A 2|22 L
(A) \/ @ —ul (&) \/ S
R o g lul tud
B) 2T (B) -
———s
Xy + Xn X1 + Xy
- jod o G SRS ~ 27 [—5
© 2 © J
2 e
2|22 2|22 71
(D) \/u% + u% (D) \/u% + u%
10. To obtain P - type Si semiconductor , we 10. P - &R &I foferepm 8= I HH F
need to dope pure Si with : IRERL Y% fafersnia o faerrn €
(A)  Aluminium (A) Tt
(B) Phosphorous (B) WIEHRY
(C) Oxygen (C) ARt
(D) Germanium (D) sHfEm
11. A transformer with efficiency 80% works 11. U IFTERHET HT &gar 80% %, 4 kW T
at 4 kW and 100 V. If the secondary 100 V W s w3 §1 gfe fadtae foug
voltage is 200 V, then the primary and 200V %, qr U ggfas wd g um
secondary currents are respectively : g
(A) 40 A, 16 A (A) 40A, 16 A
(B) 16 A, 40 A (B) 16 A, 40 A
(C) 20A,40 A (C) 20A,40 A
(D) 40 A, 20 A (D) 40A,20 A
SPACIE FOR ROUGH WORK / 7% & & o/ wrre
Set - A 9210/BE-SC/PP-M




12. Theresultant of A> and B) makes an angle 12. X q E) 1 afomH X F G d —l; % Y
wwith A and B with B : 1O ST S, T :
_—(A)—a<_[3————_—__77\')—0¢<_ﬁ— sl
(B) a<PifA<B (B) a<BARA<B
(C) a<pifA>B S (CQ) a<pARA>B

(D) a<pifA =8B (D) a<pdTA =8B

13. TF g F THW FEA HrEAHEH 1 eV T
3000 A T o1 WERTE 59 G1g W ATIfd
B ¥ 1 Sewrsta YeRTel SeraRE o AT B

13. The work function of ametalis 1eV. Light
of wavelength 3000 A is incident on this
metal surface. The velocity of emitted

photoelectrons will be :

(A) 10 m/s (A) 10 #./9.
(B) 1x10°m/s (B) 1x103#./%.
(C) 1x10" m/s (C) 1x10*#/%.

(D) 1x10°m/s (D) 1x10° #./9.

14, U wggien grErd foed geel i wen 2
wd foan 34 A, R, 2.5 TR U WY
foeiqur 45° 3 § | heel % g W g &

14. In a tangent galvanometer, having a coil
of 2 turns and diameter 34 cm gives a

deflection of 45° with a current of

2.5 amp. The strength of the horizontal &5 o &t ¥I<eh i & el :
component of earth’s field at the centre

of coil is :

(A) 38x10-4T (A) 38x1074T

(B) 0.38x 10-4T (B) 0.38x 1074 T

(C) 18x10~¢T Q) 18%x1074T

(D) 018x10~4T (D) 0.18x10"4 T

SPACE FOR ROUGH WORK / T% & & ol <e
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15.

16.

The far point of a myopic eye is at 40 cm.
For removing this defect the power of

lense required will be :

)40 D

(B) —4D
(C) -25D
(D) 05D

The graph between VE and 1/ pis:

{E =Kkinetic energy and p = momentum}

15.

. free gfe g § fifsn 1 =1 g g

40 A, ¥1 A9 FrER W @ S
AT SR W ©

16.

(A) 40D
(B) —4D
(C) —25D

(D) 05D

VE 91/p % 989 W% ¥ :
{_\ﬂﬁE=7TﬁF§[?n_vﬁap=ﬂa‘T%}

/
7 S/ \/E
(A) v / (A)
1 /p > 1/p
| JE
(B) [ \ (B) \
1/p 1/p
JE " VE
© & (©) k
T/p . 1/ P :
(D) ( (D)
T1/p 1/p
SPACL FOR ROUGH WORK /, 7% & % et w1
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17.

18.

19.

If the satellite is shifted towards th“éj eart“ﬁ;

then the time period of satellite :

(A) Increases

(B) Decreases

(C) Remains unchanged

(D) Nothing can be said

The wavelength of electromagnetic wave

of frequency 100 Iz is :
(A) 2x10°m
(B) 3x10%m
(C) 4%x10%m

(D) 5x10°m

If the angle of prism is 60° and the angle
of minimum deviation is 40°, the angle of
refraction will be :

(A) 30°

(B) 60°

(C) 100°

(D) 120°

17.

18.

Ife T I YLt wt a e g g, @
IYUE T SATTADTA ¢

(A) SE@me

(B) TR ®
(C) sraftafda @ §

(D) O HEl el I Fehal

100 Hz smgfa & fag@ geaepta @@ #i
e B

(A) 2x10° .
(B) 3x10 Hi.
(C) 4x10° .

(D) 5x7106 Hi.

19. aﬁﬁ@wwméowﬁwm

YT HT T 40° B, A TGS HIVT H HH
IR

(A) 30°
(B) 60°
(C) 100°

(D) 120°

SPACE FOR ROUGH WORK / T% &1d & ot e
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20.

The mass M shown in the figure oscillates
in a simple harmonic motion with

‘amplitude A. The amplitude of the point

20.

o # femman T gegam M o stad T
@ §, fowew smm AR g P
ST B

Pis
|
R NN\
(OSSR NN
I INNNNY
KIA A KIA
(A) K, (A) K,
K,A K,A
228 g =22
B X, ®) g,
KA KA
© Kk, +k, © K, +xk,
. KA KoA
(D) K1 + K2 (D) Kl + K2

21. A ball of mass m falls vertically to the 21. m EEE i Teh ot h1 éﬁﬂlé T TR
ground from a height h, and rebounds to T a9 ARt T a h, ‘:ﬁT'if GEORCINE]
a height h,. The change in momentum Soel §1 et W R % YA | H
of the ball on striking the ground is : e 8
(A) mg (hy —hy) (A) mg (hy —hy)
(B) m(J28h; + J2gh,) (B) m(2gh; + 2gh,)
() m2g(h; + hy) © m2g(hy + hy)
(D) m|2gh, — /2gh | (D) m[2gh, — J2gh; |
SPACE FOR ROUGH WORK / T% &d & fo1d g
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22. A potentiometer wire of lengt‘h “1 and 22, “L7 RIS F 7 ORI 1 T fauaETdt ar

a resistance “1” are connected in a series E, T, & U 9 Ao HH H I 7, el
with a battery of emf i) and a resistance o1 3TTATEn ghRiY “1,” B T oEE fa.
¢/, An unknown eml “I¥ is balanced——— B m ik i N e L0 |15« A
al the length “1” of the polentiometer B €, @ “E” R HE B
wire. The emf “F” will be given by :
Egl Epl
— A .
(A) A
I.,Iiol LEOr
(B) Iry - (B Iry
For 1 Eor 1
\®) (r+r) L ©) (r+1) L
oy o LEgr
(I)) (1' + I )1 (I)) (I‘ + 1'1)1
23. x 23. «x

t f
Figure shows the displacement-time FEETTaR Tk & S x-378 o STfeq Tifd F
graph of a particle moving on the x-axis. @1 R, 1 foeen-a9 T i T R
(A) the particle is at rest. (A) R Tex spereen T )
(B) the velocily increases upto a time (B) =1 T AT to T §E =l T R HH
ty and then becomes constant. g Fraa & ST R
(C) the particle moves at a constant (C) = T EURS| ty T it e § fm
velocity upto a time t; and then T ST T |
stops. '
(D)  the particle moves with constant (D) = feer o q i wtar B
acceleration.

SPACE FOR ROUGH WORK / T% @18 & ol S%
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24. Pl 24. p
= /!
K L
I N o
T T
An ideal gas goes from the state i to the AR O erreyl T feafa [ 9 feufy fd
state fas shown in figure. The work done St €1 5w gfRar § g grr e e @ e
by the gas during the process :
(A) ispositive (A)  URHE TR
(B) is negative (B) SRUTTH B
(C) iszero (C) I
(D) information is not sufficient (D) SIAeHRY qol e
25. A current passes through a wire of 25. TH YR STHUH AIRY FE & aR & g
non-uniform cross-section. Which of the Yaled 51 @ 71 e d Qs arafy AT
fbllowing quantities are independent of FE W Wad g2
the cross-section ?
(A) free electron density (A) T TR S
(B) current density (B) &0 ¥
(C) drift speed (©) A ==
(D) None (D) g &
26. In comparison to hall-wave rectifier, the  26. 318-q7 fewsmrd &) g 9 qui-ain
full-wave rectifier gives lower : e
(A) Efficiency (A) I 38T HH T T
(B) Average DC current (B) H fwa feeyry a1 €1
(C) Average output voltage (C) =¥ sira frfa fawe < 2
(D) None of these (D) TH | wE T
SPACE FOR ROUGH WORK / T% &1 & o s 1g
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27. The electric potential at a point (x, y, z) is 27. ww Ty (x, y, z) W faga fawd

given by V= —x2y—xz3+4. The electric V=—x2y—xz3+4§mﬁ{mw%l 34 foig
field at point is : Wﬁgﬂ@ﬁ@"ﬂ
S SE S I DN S S —~ A~ .
(A) E = i@y —2%)+j@y?) + k32x (A) E = i@y —2°) +j@y?) + k32%x
~> A ) Ny A ’ - A A A -
B) E = i@y +2%)+jx" + k3xz® (B) E = iQxy+2°)+jx> + k3xz®
(€ F = T@w) et +y?)+ kGxz —v?) (©) F=iew) 462 +y?)+ k@xz—yP)
4 A N N — N N A
D) E=iz7 +jxyz + k22 (D) E =iz +jxyz + k22

28. Two wires of same length are shaped into 28. ) TUH TS % AR ! A Td g9 H SRR

a square and a circle. If they carry same fean T €1 AfE ST WAM A yaIfEd @

current, ratio of the magnetic moment Rtecaet SZITTTF EZRCREIN ?:

is:

(A) w:4 (A) w:4

B) 4:w (B) 4:m

(C) m:2 Q) w:2

D) 2:m (D) 2:m

29. The specific heat of gas : 29. et fm i fafire o

(A) Has only two values C, and C, (A) FHRAAAT T EC, TC,

(B) Has unique value at a given (B) forelt @ R 9 R Tehel W A
temperature

(C) Can have any value between Q) 0Td ¥ 7er HE ff °H & wHA T
0 and =

(D) Depends upon the mass of a gas (D) g ¥ gemmm W R w g

SPACE FOR ROUGH WORK / % @Td & fo& g
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30. The given circuit represents a balanced 30. feam o ufy e i Rewn fas =)
wheatstone bridge. Calculate the value eRia w3 #1 9l « % 9w o
of resistance of x : Hiferd

o NN B o A
%Srrj:/ \:k_ll ,2 bsg)f/ \<l_|\‘7~1_0
o oy
:_,_.r"l \1 g
- . /| N
W N @ < ‘ LLEQ .
< h PO N |
.y 7 | v 1 L b
| 2 NN | 2 A
R !
(A) 1.00 O (A) 1.00Q
(B) 0.75 O (B) 075 Q
(C) 0500 (C) 0508
(D) 0250 (D) 025Q

31. E, Fand G are three current carrying 31. E, F 3R G d qrraTe g |rers T S
linear conductors as shown in figure. The o=t o <t = ¥ P ufiomd HFIRT
direction of net magnetic (orce on I will ERCIRE i
be :

D F G E F G
T , | T 1
zoAr 40A4 60 Ay 20 Af 40AL 60A
[
l )
(A) in the direction of current flowing (A) FH yeifed uma =t fewn §
inF
(B) in the plane of paper towards left (B) TS % I H @il AR
(C)  in the plane of paper towards right (C) 0TS % 7t § <Rl @R
(D) normal to the plane of paper (D) FTS & a1 H NISEEN
SPACE FOR ROUGH WORK / T% &1 & T3 snrg
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32. A steel ring of radius r and cross-section ~ 32. Th e &t o7 fows B ¢ 9 ST

area A is fitted on a wooden disc of radius FE T GAFA A T, F RR > 1) B Eal
R(R > 1). If Young's modulus be Y, then wwel i fewm H ol S 71 afg gn
__the force with which the steel ring is I s s e e e U S

expanded is : ST S B ¢

R R
A) AY — (A) AY —

r r

R—r1 R—r
m v () m A (2 ,
T r
x5 x5

© Al a © A la
oo -
(D) AR (D) AR

33. A hoop of radius 2 m weighs 100 kg. It~ 33. e e T 59 2 m 7o oS 100 kg §

rolls along a horizontal floor so that its T Sfas ad W wredt i w1 @ e
centre of mass has speed of 20 cm/s. IO SHHT T 5 20 cm/s I T A
How much work has to be done to stop T ¥ w9 =% U % ol fea we
it ? HTAT TS ?

(A) 40] (A) 40]

(B) 4] (B) 4]

© o] (@ 6]

(D) 60] (D) 60]

34. In a medium sound travels 2 km in  34. fopet weEm § waft w1 w3 dEve H
3 seconds and in air it travels 3 km in 2 R, a1 9 H 10 TFvs | 3 fR.AL =i
10 seconds. The ratio of the wavelengths USR] T $1 T 2 HeAdt | e ql
of the sound in the two media is : qTeEAl T ST B
(A) 1:8 (A) 1:8
(B) 1:18 (B) 1:18
(C) 8:1 (C) 8:1
(D) 20:9 (D) 20

9
SPACE FOR ROUGH WORK / T &Td & fordl sg
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35. A rocket of mass “M” is launched  35. WWWW”M”%EW@W
vertically from surface of the earth with |V o ¥ Seater Gfk R s T Ak
initial velocity “V”. Assuming the radius geat =6t i ‘R & ae AR 1 IRRIY oy
ol-the-earth-lo-beRand-negligible-air ——— & = gt F oo S shmmr o
resistance the maximum height attained B
by the rocket above the surface of the earth
is:

( oR ] [ gR J
R 2= —1 R -1
(A) \‘\ o2 (A) 2
R R
SR — ==
(B) (2§§ - 1J (B) (2_825 - 1)
Ve \
"R Homn
. R R
(©) (—8—5 - j (©) (ﬁ;z _ ]
2V 2V
2gR 2gR
ER o {38

36. A4 uF condenser is charged to 400 volts 36. TH 4 pF 99T & 400 die2 a9 smafim
and then its plates are joined through a fear T wF 3EF Ak W wiz %1
resistance 1 k€. 'The heat produced in 1 fereit o7 wferdy & g S 21 whidy
the resistance is - H ST T 6T T ¥
(A) 0167 (A) 0167
(B) 0.32] (B) 032]

C) 0647 (C) 0.647]
(D) 1287 (D) 1287
SPACE FOR ROUGH WORK / T% &/ % fo) e
Set - A 16 9210/ BE-SC/PP-M




T
37. If T is the half life of a radioactive 37. U& e Tl W SHeTy T% @ 5

material, then the fraction that would | gHg uvEr S S ST e ©
remain after a time > is :
1 N 1
*) (B 5
B B 2
® ® 5
1 1
© 5 © 75
J2 -1 V2 -1
O 5 ©) 7

38. The potential difference across 2 wF 38. TWiY T IR9" 2 wF gy & f W

capacitor in the circuit shown will be : oy m

6V 6V

. i ——‘ al
2R 1 = 3uF 2 uF == ~ 3 uF
| o

16V 16V
(A) 6V (A) 6V
(B) 10V (B) 10V
© 12V (€ 12V
(D) 18V . (D) 18V

SPACE FOR ROUGH WORK / T® & & o W
Set - A
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39. Resistance of a wire at 20°C is 20 Q and 39. U@ aR &1 9falre 20°C 920 O g 500°C T
at 500°C is 60 . At what temperature 60 Q%1 TRE a9 W 39 IRy 25 O
its resistance is 2.5 () ? e ?

(A) 250°C (A) 250°C
(B) 160°C (B) 160°C
(C) 8o0°C (C) 80°C

(D) 100°C (D) 100°C

40. The length of the tube of a microscope is 40. forel gesell =t e & g 10 QA
10 em. The focal lengths of the objectives sfugeash qe AR w1 Ry {ﬁ'ﬂ'\f ShHR:
and eye lenses are 0.5 cm and 1 cm. The 0.5 9.4, qor 1 9., €1 Hewes i s
magnifying power of the microscope is &THAT T §
about :

(A) 5 (A) 5
(B) 23 (B) 23
(C) 166 (C) 166
(D) 500 (D) 500

41. The component of a vector is : 41. frdl oo H TewF -

(A) always less than its magnitude (A) THIN ITF IR § T
(B) always greater than its magnitude (B) HIM IHH IRATT § S
(C) always equal to its magnitude (C) &HE IHH IRAT F &
(D) none of these (D) 79 § T 78l
SPACE FOR ROUGH WORK / T% 18 & o3 s1Tg
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42. An iron rod of length a and magnetic 42. a AHETE qT M FrehTd Gﬂiﬂfﬁ%ﬁtﬁ@

moment M is bent in the form of a W@w eﬂ@ﬁxﬁmw%‘, ar 5T
semicircle. Now its magnetic moment W&T{U‘f%’m ]
-  witt
(A) M (A) M
5 M I
1E) - N
M M
© = ©
(D) Mm (D) M

43. The dimensions of thermal resistance 43, oA gfodiy ) fom % :

are @

(A) M-IL~21PK (A) M~IL-2T3K
(B) ML2I-2K~! (B) ML2T-2K-1
(C) MLZT—?K (C) ML2T-3K
(D) MIAT—2K~2 (D) ML2T—2K~2

44. A bulb of 100 W operating for 6 hours a 44, TF 100 92 H 9o T <A H 6 5 ST B

day. The unit of energy consumed in 7 fea # = st @ g2 2em
7 days is :

(A) 42 unit (A) 42 e

(B) 4.2 unit (B) 4.2 e

(C) 84 unit (C) 84 gf=

(D) 8.4 unit (D) 84 qf1e

SPACE FOR ROUGH WORK / T% & & fed e
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h T |C =

X B2
b/~ \
/ X 1
A N a
% ey T e >t
Which of the graph may represent the YA H FIHT I h 9 O ¢ F Tem
relation between the capillary rise h and e T HA-| G S T G Y
radius r of the capillary ? TR ?
(A) a (A) a
(B) b (B) b
QG ¢ G ¢
(D) d (D) d
46. A block moving in air breaks into two 46. B H TG HLAT TH HS T 9F o Favrem @
parts and the parts separate : SITTT %Q’al YT STET- 3T &l 1 %, e
(A) The total kinetic energy must (A) T TS St o Sty uftad g
change
(B)  The total momentum must change (B) e WoT H eYavy wRerdA g
(C) The total kinetic energy must be (C) F& Tifast SS1 st wifera B
conserved
(D) None of above (D) I A FIE 7l
47. Inthe Young's double slit experiment for ~ 47. ¥u a? fs-Teere wam # form 1 & o3 fis
which colour the fringe width is e v gt 2
least ?
(A) Red (A) <
(B) Green (B) =1
(C) Blue () e
(D) Yellow (D) diem
SPACE FOR ROUGH WORK / 1% &8 & ol s
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48.

49.

50.

A body weighs 1000 N on the surface of
the earth. Fow much would it weigh
half-way below the surface of the earth ?

—(AT 250N
(B)
(©)
(D)

500 N
1000 N
4000 N

A man runs towards a mirror at a speed
15 m/s. The speed of the image relative

to the man is :
(A)
(B)
(©)
(D)

15 ms—!
30 ms 1
35 ms 1

20 ms !

w1
Ve

stress

The strain stress curve of three wires of
different materials P, Q and R are shown
in fig. The figure shows that :

(A)
(B)
(©)
(D)

Elasticity of wire I’ is maximum
Elasticity of wire Q is maximum
Elasticity of wire R is maximum

Elasticity of wire R is minimum

48.

49.

50.

Yool ot Hag T REE o 1 YR 1000 N §1
Yeal Te o ST T ST IHHT WK BN

(A) 250N
(B) 500 N
(©) 1000 N
(D) 4000 N

TH T 15 |1 i 0S w9 9 ¢
0 R e ¥ AT ¥ A 39E
gifer= &t =T ©

(A) 15 #.4.
(B) 30 H./4.
(C) 35+t./A.
(D) 20 #t./4.

T
(strain) R

(stress) wfwa ’

o o ff7 fafim v P, Q SRR & 7R %
o fasfa wfvae e weftfa o o £
W | Y g € 15

(A) TR P! Yoo ifeshan ¥
(B) R Q Wi Yrareyan aifueran ¥
(C) TR Rt Yeareeran sifean 3
(D) AR R TR =aH ¥ |

SPACE FOR ROUGH WORK / T&% &1d & o sig
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51.

52.

A diver at the depth of 12 m in water

N

sees the sky in a cone of

W=

AN

semi-vertical angle :
A sin”~! (é]
(A) .
o 4)
l —
(B) an ( 3
C sin~! (EJ
(© ;

(D) 90°

Calculate the equivalent resistance of a
given electric network between points
Aand B:

(B) 2R

C) R

51.

52.

mﬁ(wg)ﬁlzvﬂaﬁmmﬁw

U A 1 ST U vigp o feware waar
F foreent a3 o 8

(A) sin”! (ji)

3/

o ()

o w2

(D) 90°

2 T forea ity | A wd B fagastl % uem
TH iR 6T T IS

(B) 2R
€ R
(D) 0

SPACE FOR ROUGH WORK / 7% & & fod wg
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53. The wavelength of K« - X - ray produced 53. X - for Afeh § S Ko - X F6Tol &

by an X - ray tube is 0.76 A. The atomic areed 076 A R, Ao § 1 TS *

number of the anode material of the tube e ST ITATI] HHIE ©
_is_;_______________________

(A) 20 (A) 20

(B) 60 (B) 60

©) 40 (C) 40

(D) 80 (D) 80

: AP
54. For an isothermal expansion of a perfect 54. eyl 9 F wHAME TR % fag —P-ET

gas the value of —AI')I: is equal to : M SR BT
W VA5 ® VS
® -5 ® -5
< - éVX < - é\‘/\[
© 5 © 5

SPACE FOR ROUGH WORK / T% &1 & ford sTe
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55.

56.

57.

The angular momentum of electron in n'h
orbit is given by :
(A) nh

h

2mn

(B)

h
n2 -

2m

(D)

Find the resistance at a circuit between
A and B in the figure shown. ,

RO C RO RQ
Ao wa—g M5 AWA———oB

(A) 3R
Bk

Same current passed through different
electrolytes for given time liberates ions
in proportion to their :

(A) electrochemical equivalent

(B) chemical equivalé11t

(C) atomic masses
(

D) atomic numbers

56.

57.

o & oTgER forg A 9B & itw uRuy =1
gfatiy 7

RO RO
A o——A, C |

| o
A ’———oB

3R
3R
2

2R

o

WA

(D)

fafi= faga stoe (SoRemee) & oM
a3 T e A yarfed dt € < g
TG AT B & ST

(A) foga-Tamafes geeris
(B) YEwEbTH gedin

(© A SHM

(D) AT HeA

SPACE FOR ROUGH WORK / T% @1e & fod smre
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The wire of potentiometer has resistance 58. favedrdt o R i gy 4 379 TS oIS

4 ohms and length 1 m. Itis connected to 17, §1 9 T2 A fams w1 3™

a cell of emf 2 volts and internal resistance iR gy F Ao e g ¥ favyeardt
1 ohm. The current {lowing in the H 0 =

potentiometer is :

(A) 01 A (A) 01A

(B) 02A (B) 02A

(C) 04 A (C) 04 A

(D) 08 A (D) 08 A

3 forg oA +9e T +e TH TR €8 m
) g W@ ¥ AT e e o
Tl W TF 3 fog e “q” FE W @

59. Two point charges +9%e and +e are 59.
separated by a distance 8 m. Where
should another point charge “q” be

placed on the line joining these charges for g Hgfem w7

so that it remains balanced ?

(A) at 6 m from charge +e 1 (A) +e IO W 6 mFH T W
(B) at2m from charge +e (B) +te PN ¥ 2m & T N

C) +9% AU H 2m % T W
D) +e 3THY ¥ 12 m % T |

(C) at2m from charge +9%

(D) at 12 m from charge +e

& I8 1 TF THA a1 &1 e, T SrEe
e <EU o € A fave @ e
foran TEIT L B SUET SO T ?

60. Two copper spheres of same radii, one 60.
hollow and the other solid, are charged
to the same potential. Which will hold

more charge ?

(A) Solid sphere (A) 2Ig T
(B) Hollow sphere (B) e Tl
(C) Both will hold equal charge (©) ST g STe B

(D) Nothing can be predicted (D) &® &l gl ST HWehdl

SPACE FOR ROUGH WORK / 1% &Td & fedt smg

9210/ BE-SC/PP-M 25 Set - A




Second Part
CHEMISTRY

61.

62.

63.

Froth floatation process is used for the
concentration of -

(A) Oxide ores
(B)
(©

(D)

Sulphide ores
Chloride ores

Sulphate ores

P, + Cl, - A’

‘A" + H,O - B + HCl

‘B + IL,O - 'C + 11IC1

Then “A’, “B" and “C” are respectively :
(A)  PCl,, POCL, HPO,

B

~—

PCl,, POCL,, H,PO,

0O

(
(©) PCl;, POCL, H,PO,
(D) PCly, POCL,, 11,PO,

The K, of a weak acid T1A is 1.0x10~7
at a given temperature. The pH of
0.10 M HA and 0.20 M NaA at this

temperature is :

61.

62.

63.

IFGIR R L]
T I

HNT-AeA a9 T gigu fear s
7?2
(A) AR STIh
(B) UTHEE STIEH
(C) TIREE FTH
(D) HThe TTEH

P, + Cl, — ‘A’
‘A" + H,O - ‘B’ + HCl
‘B + H,0 - ‘C’ + HCl
TA, B AU C A §
(A) PCly, POCl,, H,PO,
(B) PCl, POCL,, H,PO,
©

(D) PCl;, POCL, H,PO,

PCl;, POCl,, H,PO,

fepdll feu 7T arodm W gEe e HA W
K, 1.0x10-7 %, 3&f agam w
0.10 M HA 991 0.20 M NaA &I pH =

(A) 7.00 (A) 7.00
(B) 9.30 (B) 9.30
(€ 8.70 (C) 8.70
(D) 7.30 (D) 7.30
SPACE FOR ROUGH WORK / 7% &/ & o srrg
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64.

65.

66.

NH, + O, ————
B 2 500K, 9bar

A+ O, B
B+ H,O - C A

PC A+ L0 64.

P, A"+ HO
500K, 9bar

‘A + O, » B
B+ H,O—'C + A

Then ‘A, ‘B’ and “C’ are respectively :
(A) N,O, NO,, HNO,

B) N,0O, NO, HNO;,

C) NO, NO,, HNO;

D

(
(
(D) N,O, NO,, IINO,

In the following transition elements, the 65.

lowest melting point and boiling point is
exhibited by :

(A) Hg

B) Cr

(©) Au

) Cu

Consider the following statements : 66.

(a) Zero order reaction proceeds with
uniform rate.

(b) A second order reaction becomes
first order when one of the reactant
is taken in excess.

(¢) Tor first order reaction, half life is
independent of concentration.

(d) The unit of rate is constant for
second order reaction is 1.2 mol =2
time~1-

Correct statements are :

(A) (), (¢) and (d)

(B) (b), (c) and (d)

() (), (b) and ()

(D) Al

statements

statements are correct

qo A, B A’ CHET: ©
(A) N,O, NO,, HNO;
(B) N,O, NO, HNO,
(C) NO, NO,, HNO,
(D) N,O, NO,, HNO,

Freqferfgg ST acl 5 sid o q, s
T qeT T FeaYHie SR © 7

(A) Hg
(B) Cr
(C) Au
(D) Cu
e el W foem e

@) Y wifz H fFa ©F w90 9
T Bt T
(b) T fadia wife & o waw ife wit
B ST 2 56 IS Uk AfieRHe stfve
ERGEIRSICE
() e wife ® foFm % ol srdengsme
el ¥ 6T o B
(d) Todta wife =t sifufran & fd <
| ﬁqﬂﬁaﬁ%ﬁ L2mol—2time~ 1%

TR TR
@), (c) T (d)
(b), (c) T (d)
(a), (b) T (c)
[ FHYA T8 T

TOoE>

SPACE FOR ROUGH WORK / T% &1 & ol g
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67. Select the correct statement : 67. W& HUF H I Hifod
(a) PH, reduces AgNQ, to metallic Ag, (a) PH, AgNO, =i uifears Ag # s1oeiom
HE T |
{b)—Organic-tissuesturm AgNO; black (o) s Ry AgNO, S Ag A oo
by reducing it to Ag,. T I Fd T |
(c)  AgCN is soluble in KCN solution. (c) AgCN, KCN foerm # faerg &)
(A) (a) and (b) (A) (a) W (b)
(B) (b) and (c) B) (b))
(©) () and (0 © (@)W ()
(D) (a), (b) and () (D) (a), (b) T (c)
68. How many isomers of primary amine will 68. C;H3N Ed %l Toha wrafies TN SemEge
be of CsI1,N ? =i ?
(A) 6 (A) 6
B 7 B 7
G 8 ) 8
D)y 5 (D) 5
69. The statements are correct - 69. 'Fla' FYT R
(@) E, of Exothermic reaction < (a) FemEdt stfufwman = E, SEATEIST
Endothermic reaction. AfisHa | %7 g ¥
(b) Rate constant depending upon the (b) an feerts afufean & e T
nature of reaction and order of iR =t wife | flk & &)
reaction.
()  A+B — Product,, (¢) A+B — T,
Rate =k [A]%~ (B]. 3T = k [AP? [B]
The order of reaction is 2%. fora =t =ife 2% BT |
(d) Catalyst increase the activation (d) SERE Whea Hol & ol o
energy.
(A) @ (© (A) @ (©
B) (@) (d) (B) (@), (@)
(©) (@), (b) ©) (@) (b)
(D) ®), (0 (D) (®), ()
SPACE FOR ROUGH WORK / T% T8 & o s1g
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70. The reduction potential of some elements 70. FO T@N h AR e FHER 8
are as follows :
;0 _ -0 _
E e llas = 0.00V E /L= 0.00 V
f2 7 iz~
EY (4, == 076V EQ vif, =— 076V
“Zn /Zn ) Zn /Zn ’
-0 L -0 _
E Cu+ +/Cu = 034 V T, Cu+ +/Cl.l =+ 0.34 V
.0 _ -0 -
EAg*/Ag_ +.080V EAg+/Ag + 080V
;0 = - 0 =~
Which of the following cell reaction will frey § Q frg S sifulean o waifee foga
provide maximum electromotive force ? ek A I BT 2
(A) Zn+Cu® o Cu+7Zn’’ (A)  7n+ Ca®t = Cu+Zn*t
(B) Zn+2Ag" - 2Ag+Zn*’ (B) Zn+2Ag" — 2Ag+Zn**
(C) M, +Cu?" — 211" +Cu (©) H,+Cu® - 2H +Cu
(D) H, +Ni*" — 2H' +Ni (D) H, +Ni*" — 2H" +Ni
71.  What happens when water is added to 71. w@m%wﬁqwﬁqwﬁwm
the following equilibrium mixture ? IS ?

Fe?* (aq) + SCN™ (aq) = Fe (SCN); " (aq)

(A) The reaction will favour the
forward reaction

(B) The concentration of the SCN " ion
will increase

(C) The concentration of the Fe3 ' ion
will decrease

(D) There will be no change in the

position of equilibrium

Fe?* (aq) + SCN™ (ag) = Fe (SCN); (aq)

(A)  @fufwar, s ifafwan 1 giefed
Eaui
(B) SCN- 3T&F =i Wizvw el

(C) TFed* ST = iR S

(D) T H g off aRerd 7 &

SPACE FOR ROUGH WORK / % & o fordl
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A compound alloy of gold and copper

72. 72. WA a9 qie w1 fag s s s o
crystallizes in a cubic lattice in which the foreeeiiea s & foad w9 % =W @t s
gold atoms cccupy the lattice points at the fogetl w9 =) JUHTY] T A § T T
corners of a cube and the copper atoms % AT Welhl % U W_:;H'i L2 ol e
occupy the centres of each of the cube YRHTY] T TSV I § AITE T B
faces. The formula of the compound will
be :

(A)  AuyCu (A)  Au,Cu
(B)  Au,Cu, (B) Au,Cu,
(€) AuCu (C) AuCu
(D) AuCu, (D) AuCu,

73. Consider a process for which 73. AH=211 k] 99 AS= —-57 [/K & e
Al1=211 k] and AS= 57 ]/K. How will ferfer o feorem snifSte | 3 fafy & foe armm
raising the temperature affect AG for this H (5 AG =l TRy YR guifer sem ?
process ?

(A) AG will decrease (A)  AG =R

(B)  AG will increase (B) AG =

(C)  AG will not change (C)  AG ¥ uftads «=f g

(D) The effect on AG cannot be (D) IUH Yo & SR W AG T 81
predicted from the information ST YT ST &1 ST ST Hehdl
given

74. Cinnabar is an ore of : 74. f(’ﬂ?’f TorgaT s1oves €2
(A) Hg (A) Hg
(B) Cu (B) Cu
(C) Pb (€) Pb
(D) Zn (D) Zn

SPACL FOR ROUGH WORK / W% &1 & o9 e
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75. Highest paramagnetic species is :

A) Cut

(
(B) Te?™
(_) Co?*

(D) Co®*

76. An inorganic compound (A) gives the
following reactions :
(a) The compound on heating gives a

residue and a mixture of NO, and
O,.

(b) The aqueous solution of (A) gives
white precipitate with NaCl
solution. The precipitate is soluble
in NT1,0H solution.

The compound [A] is :

(A) AgNO;,

() Pb(NO,),

(C) Ba(NO;),

(D) NH,NO;,

77. BT is found to undergo 90% radioactive
decay in 366 min. The half life of this

compound is :
A) 110 min

C

(A)

(B) 180 min
(C) 183 min
(

D) 36.6 min

76.

77.

st A (A) Fre sfufsan <
g:

(

a)

(b)

Hfirer T FE W TS TH SR
A9 NO, T O, %1 T Faro1 <1 ¥

(A) %1 St faerad NaCl e &
e THE SEeld T B AL
NF,OH foer # fae €1

ATF [A] T

(
(
(
(

A)
B)
)

C
D)

AgNO,
Pb(NO,),
Ba(NO,),
NH,NO,

18F 57 366 Toe B, 90% a e &
e R g Hfirr w1 srd-Sfed wi R

(
(
(
(

A)
B)
O
D)

110 T
180 e
183 T
36.6 THE

SPACIE FOR ROUGH WORK / T @ & fordl s

9210/BE-SC/PP-M

Set - A




78. An unknown ncnmetal ‘A’ form ACl,, 78.

AO5 and Mg, A, but does not form AF-,
Then which statement is incorrect

regarding nonmetal ‘A’ :

T TR ST * A, ACL, A,0; T8 Mg, A,
ST § W AF T s, @ e F ereng
‘AW R T W1 FHE T 2

(A) It forms multiple bond.
(B) Itis second period element.
(C) It's atomicity is four.

(D) It's oxidation state is from —3 to +5

in compounds.

79.  Correct Decreasing order of basic strength 79.

of oxides Cr,05, CrO,, MgO and MnO
is:

(A)  CryOy5> CrO; > MgO > MnO
(B) MgO > MnO> Cr,05 > CrO,
(€©)  MnO > MgO > Cr,O; > CrO,
(D) GO, > Cr,O5 > MnO > MgO

80. Arrange the following carbocations in 80.

decreasing order of stability :
Benzyl,

(@) (b). (©) (d)
(A) a>b>c>d

Allyl, Methyl,  Vinyl

(B) a>b>d>c
(C) a>c>b>d

(D) a<b<c<d

(A) 9% 9g-9Y o g
(B) &% T 3T I acd B

(C) SHH! WHEA 4 )

(D) ifirst o, Tkl stiwftenor srawe
-39 +5%1

Cr,0;, CrO;, MgO TS MnO & wiftues
IOl <l HEl o2l 9§

A)  Cr,0, > CrO, > MeO > MnO
e 3 g

ox}
N

(B) MgO > MnO > Cr,0, > CrO,
(©)  MnO > MgO > Cr,0, > CrO,
(D) CrO; > Cr,04 > MnO > MgO

=1 Frelisher =t wenfae % oo guFa o
ST HIfT .

afs@,  ae, wfm, EIHEK|
(@) (b) (©) (d)

(A) a>b>c>d
(B) a>b>d>c
(€) a>c>b>d

(D) a<b<c<d
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81. Which two elements have the same 81. ﬁ‘?ﬁwaﬂ?ﬁhﬁ, IRt Wﬁ%ﬁ'ﬂ\ﬁ?
ground - state electron configuration ? fo=arg T 9HH g2
(A) SandlI (A) SRI
(B) CTuand Ag (B) Cu_d?\T_A'g
(C) Liand Na (C) Li#RNa
(D) No two elements have the same (D) et off & weal |, Frerae steen o
ground-state electron configuration Teh HHIH 3@3@%‘[ fo=me =et B
82. Which of the following option is not in  82. oo it @ deifem, wi A o,
accordance with the property mentioned Frerfefiag frred! & wm Seafaa TorEHl
against them for halogen family ? % STTIR & 77
(A) F,>Cl,>Br,>1,; Oxidising power (A) F,>Cly> Br, > I, ; eI &l
() F, > Cl, > Br, > I, ; Bond (B) F,>Cl,> Br,>L,; 54 fered vl
dissociation energy
(C) 1> Br,>Cl, > T, ; Bond length (C) I,>Br,>Cl,>F,; st @K
(D) Cl>TF > Br>1I; Llectron affinity (D) Cl>E>Br>1I; oA '@ﬂ"ﬂT
83. Among the following, which is not the - 83. T % WeA S n- AT HEUITH A
bonded organometallic compound : Tﬁ% :
(A) Cr(n®-CyHg), (A) Cr(m®-CgHg),
(C) (CH,),Sn (C) (CHj)4Sn
(D)  K[PtCly(m2—C,t1y)] (D)  K[PtCly(n?—-C,Hy)]
84. Superoxide compound is 84, FaiwdES TR HF AR ?
(A) Na,O (A) Nay,O
B) K0, (B) KO,
(© PO, () PbO,
(D) CsO, (D) CsO,

SPACE FOR ROUGH WORK / 1% &rd & ot sig
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Half life of a reaction becomes half when

85. 85. WH ATulshal &t STgsT it el &) ot &
initial concentration of reactants are made o R s T = S 21 iffme
doubled. The order of the reaction will T hife BT
be : — —

(A)  Tirst Order (A) 9¥H wife
(B) Second Order (B) Tadta =ife
(C) Zero Order (C) ¥ =Ife
(D) Third Order (D) g Hife

86. Which statement is correct ? 86. I W1 YT Fel &2

(@) Composition of Benzol is 70% (a) SIS T FESH, 70% A=, 18%
Benzene, 18% Toluene, 6% Xylene. RS, 6% ST |

(b) Pyroligneous acid contain acetic (b) Q@ﬁ!%" I, EFI"]?ﬂ'*T, Ao T gt
acid, acetone, methanol and water AT o § g 8

(c)  Gasoline has high octane fuel (c) Tl 3= o1 SuF §)

(d) Hexadecane has zero cetane No. (d) THRASHT 1 e . Y[ B ¥

(A) (a), (b), (0 (A) (@), (b), (0)

B) (), (), (d) (B)  (b), (9), (d)

(©) @), (©) (d) ©) @, © (d)

(D) (@), (b), (@) (D) (a), (b), (d)

87. The oxidation number of chromium is + 6 87. T 9 @ frad wifan =) sifwde gen

in: +687?
(A) FeCr,0, (A) FeCr,O,
(B)  Cry(SOy), (B)  Cry(SO,),
(@) [Cr(OH),]- (©) [Cr(OH),]-
(D) CrO; (D) CrO,
SPACE FOR ROUGH WORK / % &1 & o3 sme
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88.

Which of the following is not a property

of crystalline solid 7

88.

frer B Hi @ el 3 o T T
87 ,

89.

90.

(A) Anisotropy (A) g caRi]

(B) Sharp Melting Point (B) e TR
(©) Isotropy (C) s

(D) Definite Geomelry (D) fafv=m ERIEIn

Among CH,, NH,, H,O and XeF, the
number of species having two lone pair
of electrons on the central atom

according to VSEPR theory is :
(A) 04

(B) 02

(C) 03

(D) ©

B,/ THT
< CH,C =0

H,0p, OH™

HgS0,/H,S50,
e iy A

A and B are :
i
A : LOCt
(A CHLCH,CHO, ClCCH,
O
(B) ! N
CH,CCH,, CH,CH,CHO
(C) CH,CH,CHO (both)

(D)  CH3CCH, (both)
O

89.

90.

CH,, NH,, H,0 741 XeF, # VSEPR
¥ < THEER T A WA W T S €,
BT :

(A) 04
B) 02
(C) 03
(D) 0

BEL,;/THF
B+——

H,0p, OH ™~
A3RBR:

3C=

HgS0,/H,S0,
. A

O
}l

A
(A) " CH,CH,CHO, CH,CCH,

O
1

(B)  CH,CCH,, CH,CH,CHO
(C) CH,CH,CHO (2rf)

CH,CCH, (&)
O

SPACE FOR ROUGH WORK / T® & & fod <
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91. A complex is prepared by mixing COCl, 91. @WWCOClgﬁNH3WW%
and NH, solutions. 0.1 M solution was TS T $HHRT 0.1 M Tt -0.372°C
found to freeze at —0.372°C. The formula R fEHHd B 9= S ¥ G AT @
of the complex is : [Molal depression  IA ¥ : [Siel =l Ao fenis smagy fegs
constant for water = 1.86° C/m] = 1.86° C/m]

(A)  [Co(NH,)]CL, (A) [Co(NH3)6]C13
(B)  [Co(NH,)5CI]ClL, (B)  [Co(NH,);ClCl,
(©)  [Co(NH,),CL,]Cl (C)  [Co(NH,),CL,]Cl
(D) [Co(NIH,),Cl,] (D) [Co(NH,),;ClL,] -
92. Following reaction is the type of : 92. 7 foren T TR WY ©
Cl e = /S a =
O»---CII= c1v12»----?~»< ><CH CH, ( \ CH= CH2—2—>©<CH CH,
AN/ a A/ A cl
(A) SN1 (A) SN1
(B) E1 (B) E1
(C) SN2 (C) SN2
(D) Free radical substitution (D) HeK Yerh giaearas
93. The complex [Cr(NII;),(OH),Cl,]*  93. Hax difirs [Cr(NH,),(OH),CL,] * wsf¥fa
exhibits : FHT :
(A) Ionization and hydrate isomerism (A) SNFHRI TS TESS GHE
(B)  Ionization and oplical isomerism (B) SMEHIHIT TH ThNG WHRIE
(C) Optical and geometrical isomerism (C) YKt o sfidts gomREd
(D) Coordination and  hydrate (D) 9= TS TEee HEed
isomerism
SPACE FOR ROUGH WORK / T &/ & ot wivig
Set - A 9210/ BE-SC/PP-M




£y § frg gaeanfie § Soaag AU

94, Which isotope below has the highest 94.
nuclear binding energy (MeV) ? el ol (MeV) Bt 82
(A)_ U238 (A) U8
(B) Ni® (B) Ni
(C) Het (C) Het
(D) U (D) U
95. Which of the following pairs has the 95. ﬁ'ﬁlﬁf:@ﬁmgmﬁ, FAH YAH IR
highest difference in their first ionisation il B SeAH SRR AT SR § ?
energy ?
(A) Xe, Cs (A) Xe, Cs
(B) Kr, Rb (B) Kr, Rb
(©) Ar K (€) Ar K
(D) Ne, Na (D) Ne, Na
96. The most abundant element in universe 96. IEIUS H 9gA™ H 9 STl e R
is:
(A) Hydrogen (A) BRI
(B) Oxygen (B) SICHISE]
(C) Aluminium (C) Tt
(D) Iron (D) G

SPACE FOR ROUGH WORK / 1% &td & fod 77
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97. Fnd product of the following sequence of  97.

reactions is :

' "‘ITT.;: :’ _ LY Y ¥ e R
[ j NBS — Mg/ether (1) CH;CN
| = =B e =

(i) ;0"
COCH,
w (T

+ 4t COCH,
(B)
CN
o &5
COOH
(D)

98. Which is the correct term for the inactive 98.

form of an enzyme often used for

transport or storage ?
(A) Co-enzyme

(B) Apoenzyme
(C) Zymogen

(D) Inhibitor

e sifufraei S wa d sifaa a2 .

_U NBS ~ Mg/ether (i) CH;CN

(i) H,O*

COCH,
o

COCH,

(B)

(D)

fersit Tmem @ fafsha w9 W st Sew
1 aiEed & o swe @ § ¥ o
R T ?

(A) HICTEH
(B) THITIEH
(C) STEdNH
(D) SEUYHF

SPACE FOR ROUGH WORK / 1% &1l % fordl wivig
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99. Which of the following statements are; 99. ﬁl’:f ff QHA A %ﬂ?'ﬂ@' %7
correct ? e
(a) The smaller the gold number of (a) =9 e Fremrs 1w e et
__Lyophobic colloid,ﬂ the larger will be % B, ST T8I0 ISRl aa_‘r” eh
~its protective power. e ) |
(b) Lyophilic sol’s are easily coagulated (b) wa fe s g ¥ form@
by electrolytes as compared to that YT GRI <9 R FIATE T Th<
of Lyophobic sol’s. AT e B
(c) TFerric chloride solution is used to () ¥ FAUSe faerm w1 S9an LIS
stop bleeding from a fresh cut. w2 TE Q T 6 AHA H e © |
(d) The unit of flocculation value is (d) TeRBAYE A I gt foEq STeLd
millimoles per litre of electrolyte. ] frefier gfiferet amm B 81
(A) (a), (b) and (c) (A) (@), (b) T ()
B (), () and (@) ® W
© (a), () and (@) © (), (b) T (@)
(D) (), () and (d) D) (@) © ()
100. Reaction of phenol with CCl, and NaOH ~ 100. f&Arel CCl, Td NaOH % |1 e qer saeh
followed by hydrolysis gives : G STASTIERA G AR
- OH OH
Cl Cl
(A) (4)
OH OH
_~~._-OH OH
® [ ] < ®
-~ "COOH -7 "COOH
OH OH
CHO CHO
© @ ©
OH OH
COOH COOH
(D) @( (D)

9210/ BE-SC/PP-M
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101. Which statements are correct ?

Ni(CO),

BF4— , CIO4_ , are
Tetrahedral.

NOT*, CN , CN™* are
Paramagnetic.

0.01 mol of HyPO, is neutralised by
0.56 g of KOH then x is H;PO,

Bry, [CuCl5]°~, [Co(NCMe),]*

are dsp®

(b), (), (d)

(@), (d)

101. F9 9w WEr &2

(b)

(4)

(B)

(©

(D)

BF, , ClO, , Ni(CO), 3ztsdt §1

NOT, CN—, CN+ e

0.01 HIel H,PO_ 1 ST & *
few 0.56 g KOH = B, @t evt &t
O (x) H PO, Bt |

Bry, [CuCl]®~, [Co(NCMe)g]*
g4t dsp3 ¥ 1

(b), (), (d)
(b), (©)
@), (b), (9)

@), (d)

Set- A
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102. Most acidic amongst the following is : 102. 7= 9 9o SR oA ¥

OH. OH
2\ _—NO, -NO,
(Ap - L Ay O]
S~
OH OH
®) B B @
K/’\No2 ® NO,
(1)H OH
Q) @ © @
NO, NO,
OH OH
o
103. Which statements are correct ? 103. 9 49 weA EeFd) g2
(@) The unpaired g in Gd3* is 7. (@) Gd®* ¥ 7 sgfiud e (5) |
(b) Pd is isoelectronic with Ag* and (b) Ag® Tg Cd2* 1199 Pd & 9
Cd=*. eI 2 #
() Cult, Se?”, Ni are diamagnetic. (©) Cul®,Se2~, Ni erimifes 2 1
(d) J4s(s+1) Show spin magnetic (d) -{Iﬂmm WWWW
moment i3
(B) (@), ), ) A @) ©), ©
(B)  (b), (©) (d) B) (), (©), [
(© (@), (b), (d) Q) (a), (b), (d)
(D) (@) () (d) (D) (a), (c), (d)

SPACE FOR ROUGH WORK / T% @18 & &3 srg
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104. Regarding diagonal relationship of Be and 104. Be T Al % Weg fyenvl deiy & wef & fipe

Al, which of the following statements are 8 BE Y Ho o 2

wrong :

(@) Both react with NaOH to Liberate (a) < NaOH ® sifufren = greeiom
hydrogen RESEETGRS

(b)  Their oxides are basic (b) =Ml % sHeRES WiftEE B ¥

() They become passive by (c) WHNOE;@T T TR B W ¥

concentrated HN ()3

(d) Their carbides give acetylene on (d)
reacting with walter

(A) Only (a) (A)
(B) (b) and (c) (B)
(©)  (a) and (c) (©)
(D) (b) and (d) (D)

105. Which carbon has most acidic  105. Tor® T o T Tl Iy el TR

hydrogen ? g?

SHl * FElge 9§ ofulEa wx
ufgfeeia 2 €

I (a)

(b) T (c)
(2) T (c)
(b) T (d)

Y
(A) C, W c
(B) Cg o
© C, Q e
(D) G -
SPACE FOR ROUGH WORK / T% % & i smrg
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106.

106.

107.

. He2t /It . CH,MeBr
CH, 5 ", @A) 220, (B)

1,0
P/Br,

©

In this reaction the final product ‘C’ is :
(A) CH,=CHBr
(B) CH,CH,CH,Br

llir
©)  CH=cH-CI,

CH;— ('}1 —CHg
Br

(D)

Structurally cellulose is a linear polymer
of :

(A) Sucrose molecules

(B) a-glucose molecules

(C)  B-D glucose molecules

(D) Fructose molecules

107.

I"Ig2+/H+

CH,MgBr
—
H,0

P/Br,

T erfaferar § &ifim s 'O § .
(A) CH,=CHBr
(B) CH,CH,CH,Br

]?r
©)  CH=cH-CH,

CH;— ?H —CH;,
Br

(D)

[CaIeHe: ®9 | Hoeais U6 (W9 Tgerh
7

(A) Twr ST
o - TEThIE STt AT
(C) Q-DT@H 3TULST T

(B)

(D) hERIST STU[T i

9210/BE-SC/PP-M

SPACE FOR ROUGH WORK / T® &/ & o srg

43

Set- A




108. After initiation of protein production, the 108. eI SRA & YIFY B o 9IS W9 HYeuoy

correct order for the steps in the synthesis T IR T E FA T .

of proteins is :

(a) Translocation B (a) T

(b) Peptide bond formation (b) UREE FY I

(¢) Termination (c) wHYH

(d) tRNA binding with ribosome (d) tIAXNTIAT (RNA) H Tga€rd § SeHT
(A) (@), (b) (0), (d) (A) (@), (b), (), (d)

(B)
(©)
(D)

109. For a given pair of atoms which of the

following statement is incorrect related

to bond correlations ?

(A)

(D)

Bond orders is 1 for O,, 2 for O,~
and 1.5 for O,°~

Bond enthalpy increases as bond
order increases

Bond length decreases as bond

order increases

Bond enthalpy increases as bond
length decreases

(B) (d), (b), (@), ()
(©) (@), (@), ®) (©
(D) (), @), ®) ()

~—

109. YA & U T g & foy oy geawry
Y grafea S o e T § ?

(A) O, % fau s =ife 1, 0,~ & faw 2
qar 02~ % faw 15

(B) ¥ wife & a5 W Y T wear &

(C) & ife & T W 54 ofwag s §

(D) <Y ST w2 R s et wgar §

110. Chloropicrin is : 110. FARMGRT |
(A)  CClL(NOy), (A)  CCL(NOy),
(B) CCLNO, (B) CCLNO,
(C) CCLINO, (C) CCLHNO,
(D) CCIH,NO, (D) CCIH,NO,
SPACE FOR ROUGH WORK / T% &g & ol smig
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111. The major product of the following

reaction sequence is :

111.

1 arfafsran e o 4 SR ®

112.

OB, \____ i)BH,
\ i) HL,O,, O /= \ i) H,0, OH~
OH OH
W Y W >
Q H O H
\
® ¥ ® Y
HO \ HO \
© © 7\
OH OH
(D) o >

1 mole of an ideal gas expands reversibly
from an initial volume of 1 dm? to a final
volume of 10 dm? at 298 K. The entropy
change at 298 X will be :

(R=8.314 JK~Imol 1)

19.15 JK~mol ~!
5811 JK ~Imol !
—19.15 JK "Imol !

—58.11 JK~'mol~!

112,

1 W &1 CF TRy 9, STHH 9 9
298 K W 1 dm?® & siRfus amgas |
10 dm? Afq9 sTrae % erm §1 |9 298
K R it ¥ afigd™ g

e ® (R=8.314 JK~1mol 1)

(A) 19.15 JK~lmol -1

(B) 5811 JK~1imol~1
(C) —19.15 JK~1mol~1

(D) -58.11 JK~lmol~1!

SPACE FOR ROUGH WORK / &% &1 & &3 e
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113. What are the products of the following

reaction ? .

114.

chess HBr
< OCHZCHZOI ] — II

(A) 7\ —OH + BrCH,CH,Br

By% }OC}IZCHZB:

(©) Br~</:>‘ ~OH + BrCH,CH,Br

</ J\\Br + BrCH,CH,OH

Among the following oxides, which one

113. =1 1faferar & s w1 $72

<} OCH,CH,OH mﬁ"ﬁﬁ HEr
(A) QOH+BrCHZCH2ﬁr
(B)... ,.BTOCHZCHZBr

©) BrOOH+BrCHZCHZBr
(D) QBr+BrCP12CHZOH

114. 91 STTFIESl & 99 HIF T GO &9

is least acidic : 3T B ?
(A) PO (A) PO,
(B) P,04 (B) P40y
C) As,O (C) As,0O,
(D) As,Oyg . (D) AsOy
| SPACE FOR ROUGH WORK / T & & o e
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. 0 o v ) -
"~ 115. IUPAC name of O 15 : 115. @ Bl H@?@@ AR

(A) 1- Methylik éyclohex-Z—ene (A) 1- Taerger asaRiRa-2-37
(B) 3 - Methyl cyclohexene (B) 3 - fHursa AR
<) 6- Methyl cyclohexene (C) 6-THuwEa IR
(D) 1 : Me(hyl cyclohex-5-ene (D) by - ﬁ'-li’ﬂgﬁ AFAGRI-5-34
116. Which is maximum basic in nature ? 116. GoQ SRT §RIF HH 82
w (L) w I
N *) N
: I !
H _ H

(B) (\I\&H ®) @\m
© @NHZ © QNHz
o Ol ) o (O

SPACE FOR ROUGH WORK / 1% &1 & ford strg
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117. In a set of following reactions acetic acid
yielded product D

= PCly Benzene ‘
CH3COOH ~52> A\ g drous AlCl; P

HON |« HOH

The structure of D is :

COOH

|
OH

CN
(-CH

Ses
‘ ()l I

OH

|
© ©_c1-12—(|, ~ CI1,
CN

O

|
- C=COOH
o [
CH,

117. o= srfufrarst & w0 o wdifer o= 1

TR D fem
. PCl; IR
_HCN |~ HOH o
D & At % :
COOH

|
Zr~CH, —C — CH.
~ OH

CN
C—CH,

|
(B) @ I
OH

OH

I
© @ ~CH,~C~Ci
CN

©w c COOH
CH3

SPACE FOR ROUGH WORK / T% &Td & ol S8
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118. NH,C! + [A]—> Microcosmic salt 118. NH,Cl + [A] — ATSshIshIEe a0
|2 |2
A ; A, ¢
[B] 2= [C] L Brvared S|
Violet
bead HeRT
[A], [B] and [C] are : [A], [B] T [C] © :
(A) NayPO,, NaPO;, Mny(PO,)y (A) Na,PO,, NaPO, Mny(PO,),
(B) Na,HPO,, NazPO,, Mng(FO,), (B) Na,HPO,, NazPO, Mns(PO,),
(C) Na,HPO,, NaPO,, NaMnPO, (C) Na,HPO,, NaPO;, NaMnPO,
(D) None of these (D) T | hlE T
119. The ground - state energy of hydrogen 119. afE SESISH T % =y ST TSl
atomis —13.6 eV. The expectation values M —13.6 eV T, eV THEAE H, TS
of kinetic energy (1) and potential el (T) @ wWifaes = (V) sTafa WM
energy, (V) in units of eV are : B
(A) T=-68¢eV;V=-68eV (A) T=-68eV;V=-68eV
(B) T=136eV;V=-136eV (B) T=13.6eV;V=-136eV
(C) T=136¢eV;V=-272¢eV (C) T=13.6eV;V=-272eV
(D) T=-272eV; V= 13.6 eV (D) T=-272eV;V=136¢eV
120. Perlonis: 120. eI ® :
(A) Terylene (A) EAGIE]
(B) Nylon-6 (B) EEAM- 6
(C) Rubber (€) TN
(D) Polyester (D) difTgex

SPACE FOR ROUGH WORK / T% < o fo&l <e
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Third Part
(A) MATHEMATICS

121. The value of

[ (553 -] =
-1

is:2

(A) log;}

3
N 3log| —
o o)
(D) None of these
If a>1, o, B are real and o2, B2 are roots

of the equation a’(x> ~ 1) +x +1=0, then

B2=

122.

1
4 1~

(B) a?
() a’-1
(D) a?+1

122.

1 Y B

(D) T q & T

g a>1, o, p oTETTH & ao o, p2HeiewTo
a2(x2—1)+x+1=0% g1 §, a9 p2=

(B) a2
) a%-1
(D) a%+1

SPACE FOR ROUGH WORK / TF & & & smre
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123. The ratio in which the line 4x+3y+7=0 123. W SI9E, e W 4x +3y+7 =0, T@rsif
divides the distance between 4x+3y+9=0 T dx +3y—~9=0 F ot
4x+3y+9=0 and 4x+3y—9=0 is : BT RAET, TER
(A)y—3~7 (A)y 37
(B) 1:8 (B) 1:8
(¢ 2:15 (<€ 2:15
(D) none of these (D) T | ®E T

124. If the sum of the lengths of the hypotenuse 124. 3fe ferdt wmRiv iy & ol iR e
and another side of a 1 A T & @ e #1 S stfieran
right-angled triangle is given, then the B ST S VST % S= HIv B
area of the triangle is maximum when the
angle between these sides is :

A) = A T
TV &) 3
™ (
® 3 ® 3
W 2w 21T
© 3 © 3
(D) None of these (D) 3T & 1S &l
125. Equation of the line passing through 125. fa=g (1, 2) @ TSRA areft @ gendn

(1, 2) and parallel to the line y=3x—1is :
(A) y+2=3(x+1)
(B) y-2=3(x-1)
6 y-2=3(x+1)

y+2=3(x—-1)

y=3x—1 % TR TR ¢ :
(A) y+2=3(x+1)
(B) y-2=3(x-1)
(C) y—2=3(x+1)

(D) y+2=3(x-1)

SPACE FOR ROUGH WORK / T% &1d & &3 svg
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126. The projection of ; along b) is :

- =
a-b
("'f\'}' ’?
~‘) -.,.)
a.b
@R
-
aXxXb
S
- o
axb
® 1

127. f sin2x d(tanx) =

(A) 2 loglsecx| +C
(B) logltanx| +C
(@
(

) 2 Ioglcosxl +C
D) None of the above

128. The equation of the plane in which the

xX—=5_y—7_z+3

lines

- -
126, b FETd a FTINT T :

o

s

ol

—A)

(B)

127. [ sin2x d(tanx) =

(A) 2 loglsecx] +C

(B) 10g}tanx| +C
(C) 2 10g|cosx| +C
(D) SHF H | HIE T&

128. §9qd  HT1 |HHI0 fogd @l

x=5 y-=7 z+43 .

4 4 -5 4 4 ~5
x—-8 y—4 z-5_ . x=-8 _y—4 z-5 . A
7 " 3 lie, is : 7 1 3 ﬁi’ﬁ%,%
(A) 17x—47y—24z+172 = (A) 17x—47y—242+172 = 0
(B) 17x+47y~24z+172 = 0 (B) 17x+47y—24z+172 = 0
(©) 17x+47y+24z+172 = 0 (C) 17x+47y+24z+172 = 0
(D) 17x-47y+24z4172 = 0 (D) 17x—47y+24z+172 = 0
SPACE FOR ROUGH WORK / T% %19 & ol sie
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129. 1f x= -5, y=—5, z= —5, then the 129, afe x=-5, y=-5 z=-5 T
aumber of integral solutions of x+y+z=-95 & T’ﬁ’ﬂ? Tl ! TE ¢ :
x+y+z=—-51s:

(&) 20 (A)_20
(B) 10 (B) 10
(C) 66 (C) 66
(D) 60 (D) 60

130. The area of the triangle whose vertices are 130. ¥Ad A(1, -1, 2), B2, L, —~1) a1
A, -1,2), B@, 1, ~1) and €3, —1, 2) C(3, —1,2) Tt Bs FA ®
is:

(A) V13 (A) V13
(B) 13 (B) 13
(C) 26 (C) 26
1 1
(o) 513 o) V13
l\cos_"l {cotx}, x< ZTZ— cos {cotx}, x< —E

131. If f@¥)= Tr 131. afg f(*) =1 : -

1'rr[x] -1, X = — l'n'[x] -1, X = —

2 2
where [] represents the greatest integer aﬁ[-]wwﬁwaﬁm%aﬁi{-}ﬁﬁm
function and {-} represents the fractional T e R 8, @ f(x) BN :
part function. Then the function f(x) will
be:

Q) 0
(A) Discontinuous at * = = & (A) *=775 T FHad
k) s
(B) Discontinuous at x=g B *=3 L A

(C) Can't discuss continuity

(D) None of the above

(C) ST W o e S wwdl
(D) SH H F HE T

SPACE FOR ROUGH WORK / T® T & o e
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-132. 1If sin(tan~1x) = cos(cot " (x+1)), then

e
(A) 0
® 5
@ -

(D) none of these

- An integrating factor of the differential

1
- logx
equation Y +ylogy =xe* x2 O,
dx
(x>0)is:
(A) xlogx

(B) (\/—?E)logx

©) (\[é)logx

(D) ¥

. If arg(zz;-;) =0, then the locus of
points z represents a :

(A) parabola

(B) circle

(C) ellipse

(D) straight line

132. 4f€ sin(tan~1x) = cos(cot ™ Y(x +1)), a9

X =

(A) 0

133.

134.

1
B) 3

© -3

(D) 99 q %S 7

TAH THTHTO

1
—logx
. +ylogr = xe* x2 ©, (x > 0) =1

dx
HHHE T §
(A) xlogx

(B) (\/;)Iogx
(C) (\[é)logx

(D) ¥

% arg(2 L) =0, gt a1 g
z Tretoe v & we

(A) TTEe™

(B) =

(€ e

(D) & @
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A A A A A A
gfewr i + j + 2k dA i+2j+k

135. A unit vector which is co-planar to vector 135.
A A ‘A A A A A A A )
i +j+2k and i +2j+k and gqaﬁqq;{‘i+j+k~q-{3qfw‘-§[ga,—|§
A A A
perpendicular to i+ j+k,is: afew 2 :
N [A. A.J
=] i -]
A) x5 A) =
) ( J2 } = V2
(4 A] [/} If;]
B) = B) =
[/\ A i /\]
k—1 -1
¢ = ) =
©@ =" J © 7
(D) none of these (D) 7 | HE T
136. For the function 136. el
ax(x — 1) + b, x<1 ax(x — 1) + b, x<1
f(x)=4x-1 1<x<3 fx)y=x-1, 1<x<3
1px2+qx+ 2, x>3 px2+qx+ 2, x>3
find a, b, p and g so that : ¥ ford a, b, p iR q T@ HU A

(i)  f(x)is continuous for all x.

(i) f'(1) does not exist.

(1)

f'(x) is continuous at x=3.
1
a#0,b#0,p= 73,97 1
1
B) az0b#0,p= 3.9 =-38

(C) az0,b=07p=

None of the above

() F), Toft x % o e 2
@) f(1) sfea e 7

(i) (), x=3 T Fed ¢
1
(A) a¢0,b¢0,p=§,q=1
1 ,
(B) a¢0,b¢0,p=§,q=—8

1
az0,b=0p= §,q=—1
S | | A T

SPACE FOR ROUGH WORK / T% FE & o TR
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137. If f(x) = min (lxl, 1 |, %J Vxe R, 137. A 9l x e R ¥ o

1 .
£ e g B 1
then the value of |/ X) 40X 4. f (x) = min [lxl, 1—1Ix, ZJ’ a

1
[ £ @) dx 1 am gy«
-1

1, 1 1, 1
fd = =~ log =
(B 3 logg (#) 3 logg
(B) 1 (B) 1
3 3
© 3 © 3
(D) None of the above (D) mﬁ@ﬁﬁ
1 142  1+2+3 B 1, 1+2 1+2+3 N
138'1+2_!+T+_@__+""_ 138'1+5+T+_—4' + =
(A) 1+e (A) 1+e
(B) e ' (B) e
1 1
@ 1+ e © 1+ 3e
1 1
- (D) ze (D) e

139. It S+ y+ D)= (J70) + V) and 139. a8 fx + y+ 1= (@) + Jfo))’

f(0)=1,V x, y ¢ R. Then f(n) for all 3R £(0)=1, @t x, ye R & o, @ g+
ne N will be: neN%ﬁﬁf(n)ETW@Tﬂ:

(A) n?+1 (A) n2+1

(B) (n+1)2 (B) (n+1)2

(©) n? (C) n2

(D) None of the above (D) SWF H § B T

SPACE FOR ROUGH WORK / % w14 &% fod wrme
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) _ogior 43 sindg
140. }1m0—~581n§—7—8;n42Yj—f—~111%r is equal  140.
- x“sinx
to:
(A) -5
B) 5
) 15
(D) None of the above
141. The rate of change of the volume of a 141.
sphere with respect to its surface area,
when the radius is 2 cm, is
A) 1
® 2
<) 4
(D) None of the above
a1f1+1 +er»l
142. If —— - between two distinct 142.

at +b"

numbers a and b is .M., then n=
Ay 0

B -1
1
© -3

none of these

}xﬁino5smx - 7;;:12; +3sinr o g "
B :

™ -5 [
(B 5

(C) 15

(D) S H F HE T

fopt Tt % oo % AREdd H S TR
Tt e ¥ wE T g, s B
29 8

(a) 1

®) 2

© 4

(D) SWHH A FE T

RIS ™" + b7 ) f-fir e

a™ +b"

- A F b ¥ T TS WA €, T n=

(A) 0

(B)

(D) o8 | T T

SPACE FOR ROUGH WORK / T® = & o s
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143. 1t 143. I
y = logx + /logx + Jogx +.. e, y= \/logx + \/logx + .\/l_(_)gx +... e,
T dy N e
then dx is : = 0
R - 1
A Y- A rey-1
X
, x
(B) 2y -1 (B) 2y — 1
X
i X
© 2y © 21
_— 1
) D) Ya-2y)
-1+iV3 L
144. If W = ‘—2 _,’ then 144, q'rz ® = 1 ';Z\/é- , 99
I+ o—-w)0+1-0+e?)0= (140 =021 4 (1 -+ 0?10 =
(A) 2 (A) 2.
(B) —1024 (B) -1024
(© 32 (C) 32
(D) 1024 (D) 1024
145. 1If the slope of a*curve passing through 145. Trdt 9% ¥ St (3, 4) A o ¥, fereht fag
(3, 4) atany point is the reciprocal of twice R YU ST 3G fag W Hif w0 TH &
Fhe ordinate of that point. Then the curve IR ¥, 9% 9% B
is :
(A) Circle (A) T4
(B) Parabola (B) LI R
(D) Hyperbola (D) efTRae
SPACE FOR ROUGH WORK / % &/ & & sg
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146. If 146. afg
dx - dx =z
FRE T A = [.f(x”n = Sy A "o Rne
then f(x) is : T f(x) BT
(A) 1+x01 (A) 1+xn-1
(B) 1+x~n (B) 1+x~nm
(C) xM+x 0 (C) at+xn
(D) None of the above (D) S H ¥ HIE T
147. If A= B ?J then |adj A| = 147. ¢ A = [2 },a-q' ladj A| =
(A) =5 (A) -5
(B) 5 (B) 5
< o6 (C) 6
(D) none of these (D) T | FE T
148. The equation of the circle in the first 148, Y™ Jgufe R feua ga < a1l 1 a1 forg

quadrant touching each coordinate axis

at a distance of one unit from the origin

is

2 +y?—2x -2y +1=0
2 +y?-2x=2y—1=0
x2+y?—2x—2y=0

none of these

Y T TU W Y B T, H g R

(A) x2+y2—2x—2y+1=0
(B)

(©)

x24+y?—2x—2y—1=0
x2+y?—2x—2y=0

(D) T ¥ o T

SPACE FOR ROUGH WORK / T% %18 & fod smig

19210/ BE-SC/ PP-M

59

Set- A




149. fordl <91 # SEE set Y W IH 2w H

149. The population of a certain country
increases at a rate proportional to the T H & 9ol ANl e % BEIRRIGH)
number of people presently living in the g1 afe 299 ar SrEEn ST Bt 3R 3 o
~country. Il after 2 years ilie population SIS SEEAT 20,000 &0, o YRY A Sq 9§
has doubled, and after three years the T ARt Al g
population is 20,000. Then the number
of people initially living in that country.
(A) 10,000 (A) 10,000
(B) 10,0002 (B) 10,0002
10,000 c 10,000
© 5 ©
(D) None of the above (D) W H | FIE T
m
150. Minimum value of 150. 40059+3COS(9 - 5) *+3 @1 e AW
(s
4cosf + 3 06— —1+3ig: .
€oS cos( > ] is : 2.
(A 7 (A 7
(B) 8 (B) 8
(C) 10 (G 10
(D) none of these (D) T8 9 HE 7
151. The differential equation of the family of 151. TH Raerdl & e | et Tt TeAfag W
parabolas with focus at the origin and the ¢ oit wnfie orer x - a7y B, TH 3awa
axis of symmetry along the x - axis is FHIEROT A T, ) 9 A et @
formed. Then the order and degree of hife iR = g
that differential equation is :
(A) Order 1, degree 2 (A) =ife1, wm@2
(B) Order 1, degree 1 (B) wife 1, w1
(C)  Order 2, degree 1 (€ =fe2, wm1
(D) None of the above (D) 9 H ¥ HIE el
SPACE FOR ROUGH WORK / T% & & for se
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152. If the equation of base of an equilate'rali 152, TF WESTE PIYS ¥ SR HI e
triangle is 2x—y=1 and the vertex is 2x—y=1TE W (~1,2) %, A B 3 oo
(=1, 2), then the length of the side of the = o ‘ S

~ triangle is : '

16

= 16
()3 ® 7

3

= 3
® 7 (B) 7

20

= 20
© 43 © |3

5

= 5
®) 415 D) g
97 1 1
i+ == w7
(A) 0 (A) 0
(B) 21 ®) 2i
€ -2 © -2
(D) 2 D) 2

154. 1t f: R—R, defined by 154. 4f% f: R >R, Fre gwR @ wfRufag

g

N i U TR
(A) One-one into (A) THE Faeqt

(B) One-one onto (B) T STIRH

(C) Many-one into (C) IETH aTqerdy

(D) Many-one onto (D) TETH =D

SPACE FOR ROUGH WORK / 1% & & ford g
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155. If ': . g' =3 and ': X b>{ =4 , then the 155. afg |: . ifl =3 a1 ‘; X ‘Q =4 =,

> - — - “
angle between a and b is: a g b ohH HULE
cos™! (EJ Ay cos” (Ej
(A) 8 (4) 8
cos™! (gj B cos ™! (—?)—j
(B) = (B) :
C Los"l(é) () LOS’I(é)
(©) -
’ i i
D) ™ 3

a+b+c at+b+c

156. If c2=a2+ b2 and s = R then  156. afg c2=a2+b2qYT s= Y a9
JsGs—a)(s—Db)(s— ¢) = Jss—a)(s— b) (s~ ¢) =
A) ~ab A) Zab
() 2a ( ) 2&1
(B) ab (B) ab
(C) a%b? (C) a?%b?
2.2 212
a‘b a“b
D D
(D) 1 (D) p

157. The length of the latus rectum of the 157, TEET 922 —6x + 36y +19=0 % -Ifiyere

parabola 9x2—6x + 36y +19=0 is : T TR B
A) 4 (A) 4
(B) 16 (B) 16
(€ 36 (C) 36
(D) 9 (D) 9
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158, The line *t=Y=%- 222
. e line k 1 1

4 -z
= e are co-planar

and

1 % K
if :
(A) k =2o0r -2
(B) k=3or -3
(©) k=lor -1
(D) None of these

- >
159. If a, b) and ¢ are three vectors mutually

-
perpendicular to each other and la’ =1,

)

’g =3 and !Ll =5, then

- oo o R
l_a —-2b, b -3¢, ¢ —4da_
(A) 345

(By —126

(C) 275

(D) —345

]is:

cosec20° — —1—sec20° =

160.
V3

Sl =& &

(D) none of these

159.

160.

(A) k =2 37T 2 |
(B) k =3 31gam -3
(C) k =1 3T —1

(D) T 9§ FIE Tl

A A, B T o TR e S € qe
l:|=1, §|=3 LE) |?l=5 2, @

- - = - - - %
a—2b, b—-3c, c —4a E

>
g
w
~
[6;]

|
—
N
[o)}

J

j— N
|

w

B

(61

1
cosec20® — —=sec20° =
J3

1
B 7
(®) {?
4
O 7
(D) T 9 FR Tl
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52 5° 5% 52 5° 5t
161. The value of |;3 o4 5| is: 161. |53 g4 55| HIHAE:
= 5 =6 C‘..4 £5 :6 =
5% 5 5% 5 52
(A) 0 (A) 0
(B) 52 (B) 52
(C) 513 (C) 513
(D) 57 (D) 59
Y - — A A - A A
162. If @ =31 —5] and b =67 +3] are  162. A% a =37 —5] R b =6i +3] A
—" . ___)
two vectors and c) is a vector such that afew € ey gfes ¢ T YR ¢ T
. = s |- - [ |-
:::xf;,thenNa‘:'b':‘C,= ?:ng,?ﬁ‘a':,b}:'cl=
(A) 34 :45:39 (A) J34:45:39
(B) 34 :45: 39 (B) 34:45:39
(C) 34:39:45 (C) 34:39:45
(D) 39:35:34 (D) 39:35:34
163. Direction - cosines of the line joining the 163. fagati (-2, 4, —5) &R (1, 2, 3) = faem
points (-2, 4, —5) and (1, 2, 3) are : el Y@ &t o - Hifesard €
N 22 -8 A 3 2 -8
AN AN AN 7 SN N AN 7
5 3 -2 8 3 -2 8
® 7 T T NN AN
o 32 8 3 2 8
N AN AN SN AN AN
5 3 -2 -8 5 3 -2 -8
N AN AN ) Oy T 7 I
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164. The area included between the parabola 164. TEAT 12 =4x 3R 2= 4y o ALA A1 PR
y2=4x and x2=4y is : T .

8 8
~(A) Z squnit _ (A) osqunit

.

(B) 8 sq. unit (B) 8 sq. unit
16 16 ‘

(C) * & sq. unit (€) = sq. unit
3 3

(D) 12 sq. unit (D) 12 sq. unit

1

Vi i ] Tre } L

~«, then  165. wﬁ’tan“{

165. It fan _\/1+x2+\/1—-x2_ \/1+x2+\/1—x2
x2 is equal to : | X2 T T
(A) sin2a (A) sin2a
(B) sina (B) sina
(C) cos2a (C) cos2a
(D) cosa (D) cosa

- —> - - ) - — acd — —> — -
166. If a+ b +c =20, tal—:—S, bl =5, 166. a4 a+ b +c =0 , alzs, ‘b'=5,

: 2 it 0.0 e
¢l =7, then the angle between a and |C| =7, a X p FATRMHTR:
N
b is:

a v
A) & (N

w w
@ 3 B 3

2m o
© © =

5w S
O) 3 D) =
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167. Which of the terms is not used in a linear 167. faf=R s gaen o Tﬁ‘r 9l 9§ 1 W v

programming problem ? TE W T ?
(A) Slack variables (A) W% R
(B) Objective function (B) JAfssifored W: _ e
(C) Concave region (C) oTaaa &
(D) Feasible region (D) ARG &
168. The order and degree of the 168. WA x2=4y & ¥ (WA & awhel
differential equation of all tangent HHIRTO 1 o TS HifE §
lines to the parabola x?=4y is :
(A) 1,2 A) 1,2
(B) 2,2 B 22
© 21 G 21
(D) 1,1 (D) 1,1

169. If o is an imaginary cube root of unity, 169. afE o THE BT TH HIEaFTH T ®,

then (1+w—w?)? equals : (1+0—0?) IER T
(A) 128w (A) 1280

(B) —128w (B) —128w

C) 12802 ©) 12802

(D) ~—128w? (D) -—128w?

170. The maximum value of 3sinx +4cosx is : 170. 3sinx +4cosx T SAfLRay 91 € :

(A) 3 (A) 3
(B) 4 (B) 4
© 5 , © 5 \
(D) 7 D) 7
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FIE BT 25.001 HT AT HH 25 Tl T | SFHh

171. A student approximate 25.001 as 25. The 171.
percentage error in his calculation Wﬁuﬁmg&%:
is:
(A) 0.004% (A) 0.004%
(B) 0.04% (B) 0.04%
(C) 0.003% (C) 0.003%
(D) 0.03% (D) 0.03%
172. If Z,, Z, be two complex numbers such 172. AR Zy, Zz?ﬁ iy ded 7w wER B 6
that |Z + Zp| = |Zy| + |72|, then: \Z1 + Zo| = |Z4] + |Zo], A :
(A) arg(Zy) + arg(Z2) =0 (A) arg(Zy) + arg(Zz) =0
v Zl _ Zl —
(B) arg(z2 ]— 0 (B) arg[zz-)— 0
© |21 = 12| © |21 = |Z2]
(D) None of these (D) T 9 FIE Tl
173. The area of a parallelogram, whose 173. SHiat g4 1 S foreent der &ﬁT‘f
adjacent sides are given Dby : = 3/1'\ + /]\ +4I/2 3R E = /1\ - }\ + 2 ,
- A A =
a=3i+j+42 andﬁ:?—?+2, FURREE,
is
(A) V24 (A) V24
(B) a0 (B) V40
©) Va2 © Ja2
(D) Vi1 (D) Jia
SPACE FOR ROUGH WORK / T% & & fod s g
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174. Equation of hyperbola whose foci are 174, sAfqaerg &1 wHt®To st arfyat

(0, £12) and length of latus rectum is 36, (0, +=12) 3R Tifyeia Shen =t wa 36 g,
is: g
(A) 3y2—x2=108 ' (A) 3y2—x2=108
B) x?2-3y2=108 B) x2-3y2=108
: Y ; Yy
(C) x?—y%=108 (C) x?-y2=108
(D) 3y2—x2=36 (D) 3y>—x2=36

175. If A and B are two metrices such that 175. 4f¢ ARBT SWWW%‘%F AB=B

AB=B and BA=A, then A2+ B2 is equal MBA=A, A2+ B2 5 §
to:
(A) 2AB (A) 2AB
(B) 2BA (B) 2BA
(C) A+B € A+B
(D) AB (D) AB
2% — &2 2% — 2
li = li =
176. lim —— 176, o, %
A) 1 (A) 1
B) -1 B) -1
log2 -1 log2 — 1
© log2 +1 © log2 +1
log2 + 1 log2 + 1
(D) log2 -1 (D) log2 — 1
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cos(0 —a) m+1

177. If sin(0 + «) 1 then m is equal 177. af< s_in'('e n a—) T m—1- A m SR §
to:
(A) | tan(% — BJtan(g = a) (A) tan(} - BJtan(%;£ - a)
(B) tan(% + GJ tan(% + oaJ (B) tan(—;i + BJ tan(% + oc)
(@) tan(g - Gjtan(ir— + a) (@) tan(i—r- - 6) tan(—lI + (x)
(D) tan({— + ej ta.ﬁ(% - a) (D) tan(% + 6) tan(.ir- - aj
178. Given that n is odd, the number of ways 178. T T3l g f& n fava gemn %,

in which three numbers in A.P. can be

selected from 1, 2, 3, ........... nis:
@ O 11)2
Q) (_n_+21_>2,
o o ‘4”2

1,23, o, n® 9 9 geen s fE

AP. ¥ g, o T & Tk B ¢
(a) & ‘21)2
® o “;1)2
@ o1
o ‘4”2
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1 + tan’x , 1 + tan’x
179. J- ——— > dx isequal to: 179. | 7% dx FUWT:
‘ 1 — tan“x 1~ tan“x

@) g1 @ og( i o) +©
W ) @ sl )€
© 38(iim)*C © 30817 ) €
o o} ve © 3o o)+

180. The differential equation of all circles 180. He foig A Yo o191 TH X - 781 W g =l
passing through origin and having their Il I STHE THIF R

centers on X - axis is :

(A) x2 :yz +xyg% (A)_ x2 =y2 +xyg—1;—

dy

4
dx

z dy
dx

®B) ¥ =x" -2y ?

B) vy =x2—2xy

2 _ 2 dy 2_ .2 dy

= x° + 2xy—+ =x" + 2xy -~

Q ¥y =x Vi Q) ¥y =x x5
2_ .2 dy 2_.2__dy
(D) ¥ =y —xy— (D) ** =y -y =
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181. An integer is chosen at random. The 181. T& T’Tﬁ? T ARMes® T g S 7
probability that, sum of the digits of its SH% T kT T 1 AN 39 B I IR
square is 39, is : G ?

A : A —
(A) 35 (A 39
B 2 B 2
C L C L
© 1 © 1
(D) None of these (D) T | HIE TE

182. The foot of perpendicular drawn from the 182. %W@WW@@WWW%W
origin to the plane is (4, —2, —5). Then (4, —2, —5) B 9 TS T T T
equation of plane is :

(A) 4x—2y—5z=45 (A) 4x—-2y—5z=45

(B) 4x+2y+5z=45 (B) 4x+2y+5z=45

(C) 2x—4y—-5z=45 (C) 2x—4y—5z=45

(D) 2x+4y—5z=45 (D) 2x+4y—5z=45

4 ) 1-x _ 7y—-14 _ z-3 . 1-x 7y—-14 z-3
183. If the lines — o T 183. afe @@ 3 > 5 R
7-7x _y—5 6-z 7-7x _y—5 6-z _ .

and a 1 5 are N 1 5 NEEES AARY

perpendicular, then the value of A is : FAAT :

A Z Ay L

(A) 11 () 11

o1 o1

® - ® 7

o 1 o 1

o 7 o 7

®) 1 T
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184.

(A)  P(A)P(B)

185.

186.

If A and B are two mutually exclusive
events, then P(AUB) is equal to :

184. A A T B W& S1yes weAC B/, @

P(AUB) &1 A BT :
(A) P(A)P(B)

(B) P(A)+P(B)
(©)  P(A)P(B)+P(A)P(B)

(D) P(A)P(B)—P(A)P(B)

If the vectors /1'\—2x/]\'+3y72 and

? - 3y;<\ are perpendicular, then

A

I+ 2x
the locus of (x, y) is :
(A) acircle

(B) a hyperbola
(C) anellipse

(D) none of these

The directrix of the parabola
Y2 +4x+3=0is :

(B) P(A)+P(B)

(©)  P(A)P(B) +P(A)P(B)

(D) P(A)P(B) ~P(A) P(B)

185, afs  wfew 7 g yayk e

)
1

g

(A) THEd

(B) U& #Afqulaer
(©) U Sriqa
(D) T 9 FE T

+2x] — 3yk FEERE @ (x, ) F1 foigue

186. T 12 +4x+3=0 ! Frean &

(A) x‘;j:O (A)'x—%ﬂ)
B x-5=0 ® x-3=0
(C) x—i-=0 (C) x——i—=0
(D) x+%=0 (D) x+?41:=0
SPACE FOR ROUGH WORK / TF 1 & fod wrre
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187. The probability of three persons having

188.

189.

187. @ safFadl o siafeq fomes fafy aor =

the same date and month of the birthday T F9M BF 1 Tifarmar B
is :
; S 1

A e M) 365

1 B 1 -
®)  (365) B (365)°

1 _ 1
© (365 © (ae5)°
(D) None of these (D) T Y hIS &
The number of ways in which 5 girls and 188. 5 Eﬂ@ﬁ?ﬁ 3 'ﬁ@aﬁ ED Th ufert § 91 &

3 boys can sit in a row so that two boys
are not sitting together is :

(A) 14000

(B) 14400

(C) 14004

14040

oX — X
If f(x)=———— +2, thenf 1(x)is:

189.

YR, SETE B o 3 e TH Wy T
ECLE

(A) 14000

(B) 14400

(C) 14004

(D) 14040
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190. For the Linear Programming Problem 190. YRae T woen % fere, wftsier
maximize : z=x, +x, subject to
X tx, =1, Xpt+x, <1,
2%, F 2x, =6, 2x4 +2x, = 6,
X 20,1, 20, 0 20,%=>0%dyY
the number of feasible solution is Z= 21+ X, Rl AAfrFadiRT ﬁf‘sﬂz | Huarfaq
' o+ HE R
(A) 1 (A) 1
B) 2 B) 2
(C) No solutions € BT
(D) Infinite solutions (D) o= B
191. The domain of the function 191, Heq f(x)=log(logx) =1 9T ¥ -
f(x)=log(logx) is :
(A) RT (A) R*
(B) (1, ») (B) (@, =)
© 0 =) ©) (0 )
D) (e =) D) (e =)
192, (sin’x + cos3x) dx equals : 192. J- (sin®x + cos3x) dx SR §
% %
(A) 0 (A) 0
(B) 1/3 (B) 1/3
©) 2/3 ©) 2/3
(D) 4/3 (D) 4/3
SPACE FOR ROUGH WORK / T% =14 % fo1 wrvg
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193. jaxex dx =

193. Iaxex dx =

(A) a*e*+C (A) a%e*+C
a’e” - a*e”
(B) loga e (B) loga i
axex § axex
(©) log(ae) te © log(ae) e
(D) None of these (D) I 9 g Tal
194. The Newton - Raphson method 194. =fE f' () _® A e - e
converges fast if f'(«) is fafy st @ stfmfca gmm 21
(« is the exact value of root ) (o T T FLTET 7 ©)
(A) Small (A) BRI
(B) Large (B)
() 0 < 0
(D) None of these (D) 3™ H g 78]

195. Which of the following is not a convex

set ?
(A) {(x, y): 2x+5y <7}
(B) {(x y): X +y? = 4
Q)  fx:lxl =35}

(D) {(x, y) : 3% +2y* =< 6}

195. T § 1 91 59 T T © 7

(A) {(x y):2x+5y <7}
(B) {xy):a®+y* =4}
Q) fx:lxl=5}

D) {(x, 1) : 332 +22 < 6}

SPACE FOR ROUGH WORK / T% &1d & ford srg
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196. In a triangle ABC, if 196. s ABC =, afe
1 f 1 3 ’

1 1 3 . + =t :
a‘+c+b+c:a+b; then C is atc b+c a+b+c?hCW%
equalto: \
(A) 60° (A) 60°
(B) 75° (B) 75°
(€ 90° () 90°
(D) 30° (D) 30°

197. If x > 0, and 197. A x > 0, 3R
logox +logy (V) + logo (¥x) + logz(%) + o =4, logox +log, (V) + log, (¥x) +10g2(§/;) F o =4,
then x equals : T x TR T
(A) 2 (A) 2
B) 3 (B) 3
<€) 4 C) 4
(D) 5 (D) 5
198. The line through the points (h, 3) and 198. ﬁg@h (b, 3) R 4 1) S el i@'{, feey|
(4, 1) intersects the line 7x — 9y—19=0, 7x =9y —19 =0 I FHH T W= Lt
at right angle. Then the value of h is : ¥l A h HA e
11
11 1
(A) 3 (4) 3
9
9 ——
(B) > B) >
22
22 2
© = © 3
9
9 r—
) 77 -
SPACE FOR ROUGH WORK / % %14 & foril wrvg
Set - A 9210/BE-SC/PP-M




199. If f(x) = logx (x > 1), then ;1% [f(ogx)]  199. A f(x) = logx (x > 1), T % [f (logx)]

equals : RN
(A) xlogx (A) xlogx
(B) (x logx)~! (B) (x logx)~1
(©) (logx) c (logx)
x © x
& x
B) " (1ogx) O Tloga)

200. The condition for convergence of the 200. qﬁaﬁ A - TREA fafy & stfireor 7t

Newton - Raphson method 1o a root ais e
™ 3w ® 77w
® F ® Fi !
© 27w ! @ 3 Fw !
©) ff((Z; o (D) %%H

SPACE FOR ROUGH WORK / T% & & o9 <7 1g
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Third Part

T W

(B) BIOLOGY (&) it fage
——{i) Botany (i) ST T :
121. Which part of Brahmi plant is of 121. Sl W & RF G 9 s Tee %1 8
medicinal importance ? 87
(A) Root (A) w8
(B) Stem- (B) o
(C) Leaf (C)
(D) Flower (D) 9w
122. Cells with secretory function have 122, ®&l &l %I G H G FIRwEHRT T
abundant : stfererar | ey =
(A) Dictyosomes (A) Teforearam
(B) ER. (B) E.RR.
(C) Lysosomes (C) <ImEENEm
(D) Peroxysomes (D) gy
123. The zygote containing 4 meiospores in 123, ST § 4 AEEER I SIS BT
Spirogyra is called : ®:
(A) Akinete (A) TEEAR
(B) Parthenospore ' (B) weMreaR
(C) Incipient Sporophyte (C) S TIRIEEE
(D) Chlamydospore (D) FIESER
SPACE FOR ROUGH WORK / T% &1d & o s
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124, = 4 @ = fada fata &2

124. Which of the following is a Secale
Cereale ?
(A) Ragi (A) TH
B) Jace (B) ¥
(C) Oat (€ &=
(D) Rye (D)
125. Sexual reproduction in Spirogyra is T § AR TS TR &9 9§
morphologically characterised by : TRRia R
(A) Oogamy (A)
(B) Isogamy (B) TR
(C) Anisogamy (C) . wrEErH
(D) Both (A) and (B) (D) (A) T (B) Tl
126. Kinase enzyme is an example of which . S foreR e A 9 fpaer Serem 2
of the following ?
(A) Oxidoreductase (A) ShfrrsiRe®Ry
(B) Transferase (B) IHELS
(C) Hydrolases (C) TR
(D) Ligases (D) TSIt
127. Which of the following is a botanical

name of Masoor ?

(A) Phaseolus aureus

(B) Lens esculenta

(C) Phaseolus aconitifolius

(D) Phaseolus radiatus

. T 1 Aeafos A e § Y e d?

(A) wiEem sifag

(B) o TR

(C) wiaed THerwiaad
(D) fwier Yedew

SPACE FOR ROUGH WORK / T% %18 & fordl wrg
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128. In angiosperm the free nuclear divisions  128. STEdsTSl H s MYEH faurse fFas
takes place during : QI BT © 2
(A) Gamete formation C— (A) I e
(B) Flower formation (B) g o
(C) Endosperm formation (C) yordry famfor
(D) Embryo formation (D) g1 fioy
129. It is theorized that extracellular as well 129. T WM 9 ® R sfehsa g %h??ih:l'q
as nuclear materials are concerned with TR SGEINED ?{ﬂ‘lﬁﬁ F HIRU 9§ Hafrem
the transmission of hereditary B4 ©, HAAfH :
informations because :
(A) Some cells are prokaryotic. (A) 3B HIERTT Wesfaiteen gt €1
(B) Particular kinds of cells have (B) ToRIv whR i wifyremretl o faew year
particular Kind of DNA. % DNA 91T 91 €1
(C) Mitochondria and Chloroplast also (C) WEErRIiea T sAReE § DNA Ir
contain DNA. SR
(D) Cytoplasmic as well as nuclear (D) = iferent favrse iR g e Fgw
material are equally distributed to werell 1 <A1 gwifedl W gue w9 4§
the two daughter cells during cell ferereor =i 1
division.
130. N.A.D. is an example of which of the 130 LS. F= 9 9 faas e 87

following ?

(A) Co-enzyme (A) Wl
(B) Co-factor (B) WESRH
(C) Co-substrate (C) Heued
(D) Holoprotein (D) BRHIRM
SPACE FOR ROUGH WORK / T% %19 & 19 sig
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131. Which of the following food chain starts

(A) Lactobacillus bulgaricus
(B) Streptococcus thermophilous
(C) Both (A) and (B)

(D) Streptococcus lactis

134. All plastids have similar structure because
they can :

(A) Store starch, lipids and proteins.

(B) Get transformed from one type to

another.
(C) Perform same functions.

(D) Be present together.

131. =1 9 @ *F9 TR w98 S 9 IRy

with large animals and moves to small B T DI gl it S SR ¥ 2
animals ?
o (A) Predator TmYdﬂTﬂn—(Aj—ﬁ%ﬁ&%'@ﬁ-aﬁff
(B) Saprophytic food chain (B) HAIUSH! @ et
(C) Parasitic food chain (C) TSt @Te el
(D) Al the above (D) ST
132. Which of the folloWing may be called as . = d 9 o e =1 foraveT Sew wa
fission algae ? SIS ?
(A) Oedogonium (A) derifrEm
(B) Volvox (B) diciaied
(C) Nostoc (C) HI=i=®
(D)  All the above (D) IR |t
133. Which of the following micro-organism . AR T ¥ T § 1 foRw gaAsia s sean
is used in making of Yoghurt ? BE?

(A) TRIGHTE TEIHY
(B) WRR®HH gHifweE
(©) (A) T (B) I
(D) WrhHH dfed

. gl wficey #t o g O € it

q:

(A) w=H, fafrs @ W& % 9ren w@
4

(B) TH TR § TW TR § FUFINRA @
T T

() wHH % FW T

R EICRIPE GRS
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135. How many meiotic divisions are necessary 135. ﬁ'E_T: % 100 TH TH & forw foramt 3:{%?@

for the formation of 100 grains of Tfarvrsm sterea® €2
wheat ?
(A) 125 _ (A) 125
(B) 100 (B) 100
(C) 50 : (C) 50
(D) 25 (D) 25

136. Which of the following is a reason for 136. WifsUfed I 1 R0 g § Y B §2

Siderosis disease ?

(A) Coal dust | (A) wFA HF e
(B) Silica (B) faferer
(C) Iron dust (C) <iE &
(D) Cane fibre dust (D) T H =

137. Which of the following chemicals is used 137. T 9 ﬁ%‘ﬁ?@ﬂ T s werel % ey

in preservation of food materials ? ﬁ\gﬂﬁﬁ BT § 2

(A) Sodium Benzoate (A) wifeTm S=iwE
(B) Sodium Nitrite (B) wifeaw wEEe
(C) Sulphur dioxide (C) U SIS
(D) All the above (D) SWE gt

SPACE FOR ROUGH WORK / % &Td & o w8
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138. tRNA has two unequal free arms :

139.

140.

(A) Short arm ending in —G and long
arm in — CCA

138. tRNA ¥ € STHM T yord gl €

(A) DA YMFIMH —G @I N F
g H —CCA

(B) Short arm ending in — A and long
arm in - ACC

(C) Short arm ending in —G and long
arm in —CGA

(D) Short arm ending in —C and long
arm in —GCA

Which of the following stage promotes
flowering in short day plant ?

(B) Pfr

(C) P730

(D) All the above

Copepods in lake ecosystem are which of
the following ?

(A) Producer
(B) Primary Consumer
(C) Secondary Consumer

(D) Decomposers

139.

140.

(B) BIEI Y% A H — A T I Y F
FaH —ACC

(C) DAYMF Y —G & 9 [N F
I H —CGA

B YN F A H —C & a1 %
< H —GCA

Forer § 9 FE St oweq W G
TSI ST ST T § 2

(B) tﬁqq;m
(©) "'1"1'730

(D) IRIF |t

<1 3 Wit o3 § FieE fre
FTEA T ?

(A) SRS
(B) wrufien SqMERT
(C) Toltae susiem

(D) SIEH

SPACE FOR ROUGH WORK / T% &1 & ol o
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141.

Which of the following is a reason of

Plumbism ?

(A) Arsenic

142,

143.

(B) Cadmium
(©) Mercury

(D) Lead

Protein synthesis occurs in :
(A) Mitochondria

(B) Chloroplast

©) ‘Cytoplasm

(D) All the above

Which statement is true in respect of
Eutrophication ?

(@) Nutrients enriched in water.
(b) Species diversity increases.
(A) (a) right, (b) wrong

(B) (a) wrong, (b) right

(©) (a) and (b) both are right

(D) (a) and (b) both are wrong

141, WiEEH H FRE A T Y BT 72

142, YREH Gyauo BT ¥

(A) Wi |
(B) FINr@m= H
(C) Ry |
(D) 390wt |

143. GO % Gy H T HoT TE B ?

(@) T el T st & S R
(b) wfa fafaerar =g st 2

(A)  (a) W&, (b) T

(B) (a) I, (b) W

© (2) T (b) T WA

(D) (a) T (b) Rl e

SPACE FOR ROUGH WORK / T% &1 & o s1g

o

Set - A

9210/ BE-SC/PP-M




144. Which organelle is found only in plant 144. W9 91 STF HIe UG RIHSH § qwE

cells ? ST ?

(A} Glyoxysome - (A)— TSI
(B) Lysosome (B) mEHEM
(C) Peroxysome | (C) W=
(D) Ribosome (D) TEeEH

145. Which of the following method is used 145. T ¥ 9§ T fafy =1 swam adt g0 w6

for selection in vegetatively .propagat‘ed et wae | =ae & o foma s g 2
crops ?

(A) Mass selection ‘ (Ay ‘i\ﬂ R

(B) Pure line selection (B) IS W@ =TT

(C) Clonal selection (C) A =T

(D) All the above. (D) S |t

146. Which of the following oil is a drying 146. =1 o ¥ FHH 90 GEA AT A © 2

0il ?
(A) Linseedoil - () sreret = A .
(B) Olive ol ; e (B) S A

(©) Groundnut oil (©) T T e

(D) Castor oil _’ ‘ (D) SUE! T Aol

SPACE FOR ROUGH WORK / T% &t & foar sig
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147. Which ratio is constant for DNA ?

(A) A+G/T+C

(B) A+T/G+C _—

(C) A+C/U+G

147. DNA % a0 =9 91 s feem g 82

(A) A+G/T+C

(By—A+TAG+E
(C) A+C/U+G

(D) A+U/C+G (D) A+U/C+G
148. Which of the following induces sexual 148. = § <ifiTk yo A foresh g0 3RE feen
reproduction in Mucor ? ST e ?
(A) IAA (A) IAA
(B) GA (B) GA
(C) Trisporic Acid (C) IETIRF o0
(D) Citric Acid (D) fafgsw st
149. Cry gene of Bacillus thuringiensis is used 149. e yifsmafog & Cry SIF &1 399
for which of the following ? =1 1 1 former fore feran sman &2
(A) Protection from fungus (A) ‘?'T”gv_c{ q e
(B) Insect control (B) =i faFw
(C) Detoxification (C)  srfardierTo
(D) Nif gene amplification (D) 1% S e
150. The function of capsid include : 150. e & #rd % strta witafom &
(A) Protect genetic material from (A) SRt 31e®H @ SIRCINEIR M DRG]
nuclease attack Rt
(B) Attachment and injection of viral (B) WuF W Worwal Ud Uk % R G
genome into the host feryToy S 1 SR
(C) Determines the antigenic specificity (C) Tommy =t wodsifes fafbred @ fruko
of virus
(D) All the above (D) SEd At
SPACE FOR ROUGH WORK / T% &rd & fod wrg
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151. Which of the following hybridization 151. f1=1 9 | wiet oo =) fafy @l
method is not used for self pollinated WA T T T B § 7
crops ?
(A) Pe;gree method (A) e fafy
(B) Bulk method (B) Wik fafy
(C) Back cross method (C) & g fafy
(D) Synthetic cross method (D) Heatya sere fafy
152. Which statement is correct in relation to 152. =5hid YohRI-TIERIRGIHT & Faie H e
Cyclic Photophosphorylation ? FeA W §?
(a) NADPII, is synthesised. (a) Q?.E.@?.‘ﬁ.@z T HEITT B |
(b) P-700 is last electron accepfor. (b) P-700 3ift¥ SR AR B
(A) (a) correct, (b) wrong (A) (a) G&, (b) TeTa
(B) (a) wrong, (b) correct (B) (a) T4, (b) TRl
(C) Both (a) and (b) are correct (C) (a) T (b) SHI W
(D) Both (a) and (b) are wrong (D) (a) W& (b) I Terd
153. “Omnis cellula-e-cellula” generalisation is 153. @F\’{Fﬂ—s’—‘wn SATESIVA I
given by : femm -
(A) Lamarck (A) HTR
(B) Dutrochet (B) TFIR
(C) Leeuwenhoek (C) wETE
(D) Virchow (D) fo=na

SPACE FOR ROUGH WORK / 1% &g & ford sie
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154. Stem elongation is a main effect of which

of the following hormone ?
(A) 1LAA.

(B) G.A.

(C) A.B.A.

(D) Kinetin

. Amphimixis in plants means development

of a plant :

(A) From fusion of two gametes
(B) Without fusion of gametes
(C) From stem cuttings

(D) From root cutting

. Which of the following has peptidoglycan
as major constituent of cell wall ?

(A) Gram-negative bacteria
(B) Gram-positive bacteria
(C) Mycoplasma

(D) Cyanobacteria

. Rhizophore of Selaginella is often

considered as :

(A) Organ-sui-generis
(B) Root

(C) Stem

(D) None of these

154. T 1 <retercer e © 9 o sl 1w

T § 2
(A) STETT

155.

156.

157.

(B) T
(C) Tusiw
(D) AT

Tl F wenifafrag (sTeEe) w1 oo §
 de w faey

(A) YR F WEEH |
(B) IR < WgseM % form
(C) ™ Fag
(D) & %o 9

fererent =ifvre fafa & S<ieregse ger
e % T H T W E ?

(A) TSRS ST
(B) IMH-+IGTH STy
(C) WIS
(D) WrESiErT

AT % TSR T T ST &

(A)  SrH-gE-fmi
(B) w&
(C) <
(D) & & = T
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158. Vascular cambium is a meristematic layer 158.. dded TYT 98 Tavsiiaes w & S I ©
that cuts off :

(A) Primary xylem and Primary (A) T Sge™ wd wafas T
phloem

(B) Xylem vessels and Xylem tracheids (B) iree™ alfgfeR! T Siged aTfe

(C) Primary xylem and Secondary (C) wauftr Seem T fgdiaes smgem
xylem

(D) Secondary xylem and Secondary (D) Todiaer Sge™ TS fadite vy
phloem

159. Reclamation disease occurs due to 159. ﬁ:Wﬁ‘TﬁWﬁ@ﬁﬁWﬁ@@ﬂT%?

deficiency of which of the following ?

(A) Copper (A) e
(B) Zinc (B) TS
(C) Nickel (C) fTrwa
(D) Molybdenum (D) wifcresTH

160. Mycoplasma form colonies that resemble 160. HISHITIH] Il o1 FHo w@ §

in shape with : S e TR B
(A) Fungi (A) waH

(B) Fried egg (B) e BT AU

(C) Bread ©) =a@

(D) Cream (D) %M

SPACE FOR ROUGH WORK / % @1d & ford srg
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(ii) Zoology , ’ (ii) wrforemer

161. Programmed cell death is : 161. WS FIRTH T
(A) Celllysis (A) RIRTERT T8
(B) Autotomy (B) AT
(C) Apoptosis (C) wurEg
(D) None of the above (D) SHIF § FIE el
162. The group Amniota (Amnia) includes : 162, TR TR H o ¥
(A) Reptiles and birds (A) FOgT 7 vsht
(B) Reptiles and mammals (B) YW T wWAYR
(C) Birds and mammals (C) ueht o wHuR
(D) Reptiles, birds and mammals (D) &gy, et v T

163. The year of launching of Human Genome 163. BHA SIHM WS &I oAlS w0 H a9 T
Project and completion of rough draft of fose %1 TF QIR TR & =5 aY

the sequence was :

(A) 1992 and 2000 (A) 1992 & 2000
(B) 1990 and 2000 (B) 1990 & 2000
(C) 1989 and 2001 (C) 1989 T 2001
(D) 1992 and 2002 (D) 1992 T 2002

SPACE FOR ROUGH WORK / T% &1 & ford wrrg
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164. A synthetic form of opium was developed
by Germany during WW II. This is

164. fava gz f5da & SRm st 3 sifem =

165.

166.

known as :
(A) Prednisalone (A) TaeArEaE
(B) Cortisone (B) wIfeHM
(C) Methadone (C) WIsH

(D) Polyheroin (D) dieielEA

The genetic defect - adenosine deaminase
(ADA) deficiency may be cured
permanently by :

(A)

(B)

©

(D)

Periodic infusion of genetically
engineered lymphocytes having
functional ADA ¢DNA

Administering adenosine

deaminase activators

Introducing bone marrow cells
producing ADA into cells at early
embryonic stage

Enzyme replacement theory

What is the basic unit of classification ?

(A)
(B)
(©

(D)

Order
Phylum
Genus

Species

165.

166.

TS SIUfERs (ADA) 919 e
STETYTeR T Tereh g Tl R W ST
foran ST &2

(A)

(B)

(D)

FTEAIA ADA cDNA ® g
safyrRa: il farpase =
TG 9T T A9: YA w0 w5

TSR oS whEas w1 YR

EaUETY

ADA 3ScUTEd HIA arelt Afeaasn
HifrRTetl Tl AR yor eraeersy ot
FHIRTERTIST o R A T HY

TieH Giaseras Tafha |

TR Y JEE TS B G § 7

(©)

(D)

S
RS
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167.

Adrenaline  is equivalent  to 167. el fog UTIHR & AT 2

neurotransmitter :

(A) GABA

168.

169.

(@)
(b)

©)
(d)

(B)
©
(D)

Epinephrine
Nor epinephrine

Serotonine

The most important human activity,
leading to the extinction of wildlife, is :

(A)
(B)
©)
(D)

Pollution
Hunting
Introduction of alien species

Alteration and destruction of
natural habitat

Match the column :

Column - I Column - II

Hypothalmus (i) Relaxin

Anterior (i) Estrogen

Pituitary gland

Testis (iii) FSH and LH

Ovary (iv) Androgens

(v)  Gonadotropin
releasing hormone

@ () (0 (9

(A4 @ @ (@v) (i)

(B) @) (v) (v) (@)

© ) @) Gv) (@)

D) ) ) @) (@)

(A) GABA

- (B) TTwN
(C) R TfrwH
(D) WA

168. Wﬁﬁﬁ%ﬁlﬁ"?ﬁﬂ?{%ﬂﬁwsﬁﬁﬂﬂ@i

Tt & RO S @ R

(A) T
(B) fir

(C) fera wifedl =1 g2rewem
(D) - Ui 919 H uftedT o foam

169. wiem i gafer ¥

R - 1
(a) eEUSeR (i)
(b) WUgE U™ (i)
(© T (1)
(d) 3TvER™ (iv)
] )
(@ (b) (o)
(4) @ @ @)
(B) () (v) (i)
©) ) (@) ()
D) (v) (i) (i)

HiW - 11
Rt
TN

FSH @9l LH
TEISH

B

(d)

(1)

(i)

(i)

(iv)

SPACE FOR ROUGH WORK / Y% &td % fod e
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170. Which type of cancer is found in 170. f\?i‘—'q'"»:ﬁg, 7Y 9 T | 1 S ST $E

lymph nodes, gland and spleen ? e

(A) Sarcoma (A)  WREE
(B) Carcinoma (B) e
(C) Adenoma (C) wEHmM

(D) Leukaemia (D) wgeifean

171. Identify alphabet and choose correct 171, SEHOE i YgaM a1 €&t el I

combination :

Carbamyl Aspartic HATATSA

phosphate?/_, a \Qacid ijﬂf’* a \ngﬁﬁ HFA
Orinithine Arginosuccinic iAo arstineaefies
K /( acid ;\ ‘_/4 I

b+ c Rl b

Urea C

(A) a - arginine, (A) a- ,

b - succinic acid b - GFIHIE 3Tt

¢ - fumaric acid ¢ - RERF o1
(B) a - citrulline (B) a - fagefw

b - arginine b- STI;ﬁ“—ﬁ'vT

¢ - succinic acid ¢ - g s
(©) a- citrulline ©) a- mgae]__[

b - fumaric acid b - AR T

c - arginine . o
(D) a - citrulline (D) a- fﬂf:-’, .

b - arginine b - S

¢ - fumaric acid - Ppif s

SPACE FOR ROUGH WORK / T% &g & ot svg
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172. Which is correctly matched ? 172. W& A& A § 2

(A) Menstruation - Breakdown of (A)  =IfgF T8 — Wl?ﬁﬁ@?m Rl T a1l
myometrium and ovum not srug] Fafe =& g 2
fertilized.

(B) Ouvulation — LH and FSH attains (B) 3798y [78h1T — LH e FSH 5o
peak level and sharp fall in level of R W SR § U TSR "R
Progesteron. BT

(C) Corpus Luteum — Secretory phase. (C) @97 wgfeaq — | Taedr ik
and increased secretion of IS T HE00 EESI Bl
progesteron.

(D) Proliferative phase — Rapid (D) FIGfEElT Bor— Ay w1 ok
regeneration of myometrium and Frafor g & qun dfeas wifaea
maturation of Graafian follicle. RO B R |

173. One of these lacks open circulatory 173, $79 9 forud Qe Haed o 71&f a1 &7
system :

(A) Silver fish (A) faeer

(B) Cockroach (B) wiwlH

(C) Housefly (C) =T et

(D) Earthworm (D) Hgsm

174. Which of the following molecules is used 174, TS A9a & o] A9 % o ged)

as a measure of relatedness beyond =1 Frifta @ aren wF Hiferrga & 2

species level between organisms ?

(A) mRNA (A) mRNA

(B) tRNA (B) tRNA

(C) rRNA (C©) rRNA

(D) None of the above (D) 3T H § FIE

SPACE FOR ROUGH WORK / TF &1 & o g
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175.

176.

177.

Protein which plays a significant role.in -~ 175. Wi S ggTaeen 3 Heearqul fHeRt framm
ageing is : e
(A) Actin (A) TRHA
{B) Myosin (By—HTarET
(C) Collagen (C) whiersH
(D) Elastin (D) semRA
Kalaazar is caused by : 176. HTSIR fordeh RO Ear & ?
(A) Plasmodium vivax (A) <AATETd aEae
(B) Leishmania donovani (B) wrerITTAT SHIEM!
(C) Trypanosoma gambiense (C) fetaram fiferg
(D) Wuchereria bancrofti (D) =@ St
In a pedigree analysis, =0 represents : 177. et foeroor #, =0 yefia war #
(A) Unrelated mating (A) TS g9
(B) Consanguinous mating (B) TIehe daelt gor A
(C) Siblings (C) Tasfen
(D) Affected parents (D) gwifea g
. Match the column : 178. e &l Afad ¥ ;
Column -1 Column - 11 i - I e - I
Chondrocyte (i)  Bone forming (a) FrEEREeS () Ay o
Osteocyte (i) Cartilage forming (b) SAT=leAEES (i) Surfey fmior
Osteoblasts (iii) Bone maintaining (c) STy (iif) @I = AT T
Osteoclast (iv) Bone eating d) ST (iv) 3y v
@ ®) © (@ (@ ®) (© (@
@ O G @ @) A 6 @ @) )
B @) () @) () B @) Gv) @@ 6
© ) @) O @) @ ) G @ @)
@) (v @ @ () O @) G 6 @)
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179.

180.

181.

The first vaccine was developed by :

(A) Louis Pasteur

179.

Juq S 1 TRER Sgery fean ?

(B) Edward Jenner — —
(C) Carl Landsteiner

(D) Joseph Miester-

In a food chain, insecticide amount :
(A) decreases at each trophic level
(B) increases at each trophic level
(C) remains unchanged

(D) none of the above

What is correct ?

(A) Neuron=Cyton+ Dendrite

+ Axon + Synapse

(B) Lymph="Plasma+RBC+ WBC

(©) Blood=Plasma+ RBC+ WBC
+ Platelets

180.

181.

T @Al § HISANS A STHST
(A) T G99 R Tl §
(B) Yk WU &R W Sl §
(C) eTuftafda e &

(D) S H ¥ HE 7l
TE T ?

(A) UA=WEIAT + SYRES + TR
+ fars

(B) fa*® =<@TTHT+ 11T 97. 9T,
O+ Ty, WL

(C) TFd =T ATTHT + HATT. 91,97,
+ T &1 H. + <iecie™

(D) Plasma = Blood — Lymphocytes (D) W& = T — TarhEEed
182. Linnaeus is associated with : 182. wiif7ag defya @
(A) Inheritence of acquired characters (A) THETFE FERH H w9
(B) Binomial nomenclature (B) fgamit ARt
(C) Law of independent assortment (C) wax srdreHe &1 fm
(D) Law of limiting factors (D) fafafen et w1 T
SPACE FOR ROUGH WORK / T& &8 & fod wmig
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183. The formula for exponential population 183. TEHRES SMuE gy = R §

growth is :
(A) dN/dt=rN (A) dN/dt=rN
—(B)y —dt/dN=TN (B)  dt/dN=1N
(C) dN/rN=dt (C) dN/rN=dt
(D) rN/dN=dt (D) rN/dN=dt
184. Emphysema is characterised by : ' 184. ST‘ﬁFH‘lT‘m"I ALY R
(A) Inflation of alveoli (A) TSRl ¥ g
(B) Pulmonary haemorrhage (B) RS H THEE
(C) Increased number of air sacs (C) /g &S & & ¥ gig
(D) Infection of Mycobacterium (D) wiEheRREw Feiafe o1 Howaul
trabeculae
185. Homologous organs are : 185. WHSMA 3 ¥ :
(A) Wings of pigeon and butterfly (A) FHIR T faaet & o=
(B) Wings of pigeon and houséﬂy (B) HERR I TR ARG & forw
(C) Wings of pigeon and arms of (C) IR & o 3 9 & 7Y
human
(D) Wings of bat, housefly and butterfly (D) Wﬂ?@, e vaE 9 faaett & fo

186. On what basis blood group classified ? 186. T Tg ¥ suR W fawfsa fmd 7 €2

(A) Antigen and antibody (A) ToH o Eeiel
(B) Haemoglobin content (B) %ﬁ"ﬁ‘?ﬁﬁﬁ Hee
(C) Rh factor | (C) Rh ez

(D) Oxygen content (D) STfeRIS shee
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187. Find out the correct match :
(a) Hepaticlobule (i) Submucosal
gland
(b) Brunner's (ii) Base of Villi
glands
(c) Crypt of (iii) Glisson's
Lieberkuhn capsule
(d) Sphincter of (iv) Gall bladder
Oddi
(e) Cystic duct (v) Hepatopancreatic
duct

188.

In oogenesis, divisions are mitotic except

during the formation of :
Oogonia

(B) Primary oocytes
First polar body

Second polar body

187. GEl gH TEEM :

(@) TR d=ga () wIgwEd
pID]

(b) I ATy (i) foedt =1 SER

(c) ooEA e (i) ToEd HE -

(d) S 1 TRFERS (iv)  framm

) o afasm (v) RHRIARFAEE
BISED

188.

(A) () @) (v) @) @

(B) @) @O @) () ()

© v @ @) @) @

(D) @) @ @@ © @)
IO H, SRIferhT forTom T 2 & et
Frfafed T9eR Brew

(A) ST

(B) wufer IHIEe

(C) U= dier Al

(D) feditar e siet
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189.

Honeybees are used for :

(A) Sericulture

189.

190.

AN A M 14
7) .l"\l?l( TITare

—

(C) Tissue culture
(D) Pisciculture

Find correct statement :
Statement - | :

In man, vertebral column has 33 bones,

organized into 28 bones.
Statement - 1T :

Pelvic girdle is made up of two fused

bones only.
Statement - III :

Osteoporasis is characterized by

development of bone.

(A) I alone is correct.

(B) II alone is correct.

(C) III alone is correct.

IT alone is incorrect.

D)

190.

(C) feqwem
(D) fieireeR

TE HYH I59H
RUT-1:

AT & {5 W 33 1ty safs dufed 28 sifey
BT

h¥yd - 11 :

e free 81 W o1fer | w7 B €

<R - 111 :

STy s1feey & faer | weumT S
7

(A) I 1EE R
(B) ol I T ¥
(C) ot I ¥ )
(D) o I e §1
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191. Silk is secretion of silkworm from its

191. W F2 & DA 9 T o1 9 o 7 s

specialized : B ?
(A) Malpigian tubules (A) Hedifsam =sgea
(B) Salivary glands _ (B) «muUf
(C) Fat bodies (C) e wiEt
(D) Poison glands (D) forer Tifey
192. A long-term use of cocaine may develop 192. I & e HIelch STANT o FHETITR
symptoms of other psychological femetiet & fperq 1 e wear 82
disorders such as :
(A) Major depression ‘ (A) wR feivm
(B)  Social phobia (B) drvret wifern
(C) Eating disorders (C) e fegendt
(D) All the above (D) SRIF wef
193. An allergic reaction is initiated by 193. Q‘ﬁﬁﬁ Rewm e TRarels ¥ IRy
antibodies of the : BrTR?
(A) 1gG group (A) IgGoTE
(B) IgM group (B) IgMuTE
(C) IgA group (©) IgAwTE
(D) IgE group (D) IgE¥ e
~ SPACE FOR ROUGH WORK / T &4 % fod g
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194. People living at sea level have around
5 million RBC/mm? of blood whereas
those living at an altitude of 5400 m have

around 8 million. This is due to :

194. TH5 & ST9-T9 @A 99 e o e
5 THefto onel TR T /mm? I ST §
ST 5400 HY, SIS 9X T8 arer § 8 firefte |
MW%:

(A) There is more UV radiation which
enhances RBC production.

(B) People eat more nutritive food
which help in formation of more
RBCs.

(C) People get pollution free air to
breath with more oxygen.

(D) Atmospheric O, level is less so that
more RBCs are needed to absorb the

required amount of O, to survive.

195. Gout that leads to arthritis is associated
with abnormality of :

(A) Pyrimidine metabolism

(B) Purine metabolism

(C) Fat metabolism

(D) Protein metabolism

(A) =& it UV fafor 2 § < e
T 1 % ST ! SGRT = |

(B) =af s1fyer Wivwer TR = € Fored
AU SITeT TR U ST ]

(C) =afF yguur g o1g 9 § e
AR O, F T Yo o B

(D) oRvSE Sifaier & R wH 2
? forad etfus @i 19 w01 #

ATEYIRA FAal T AfEm SR ?
YA % TTHA O, TT F:X TH |

195. TS S sMYisied Seusl i
T} SAIHHIAT & eaea T

(A) urRifafeT 3urveg
(B) WA 3U=H
(C) =¥ U=

(D) URIA U=
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196. A male human is heterozygous for

autosomal gene A and B and is also
homozygous for hemophilic gene h. What

proportion of his sperms will be abh ?

(A) Y
B Y
© %
(D) ¥

. Arrange the events in human female

reproductive cycle :
(a) Secretion of FSH
(b) Growth of Corpus Luteum

(c) Growth of follicle and Oogenesis

(d) Ovulation
(e) Sudden increase in level of LH
(A) (@)=(0)=(e)=(d)-(b)

LB (=@ (d)-b)-()
( d)—=(c)—=(e)—=(b)
( )

(a)—(
(b)—(a)—(c)—=>(d)—(e

(
(

. A baby of blood group ‘A’ cannot belong
to parents of blood group :

(A) Husband O, Wife AB
(B) Husband A, Wife B

)  Husband B, Wife O
(D) Husband AB, Wife A

196. T& T HASA 3ifeAT SiAf A 7en B & feorg

197.

198.

feedismeTa § 9o Ewifas S h % o
BIHISTETE & 39 YERTI[ST § abh Forg eam
o g ?

o) ¥,

HIS H HIGT TS =k h S ) e
FX

(a) FSH =1 =&

(b) rE Tgfeaw w1 3

(c) wiferhal &1 fashrd qom STUETY] &I
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199. The cells affected by leukaemia are : 199. it for sl o1 gerfer sl ¢?

(A) Plasma cells (A) ITSH HINT
(B) Erythrocytes (B) RefamEe
(C)  Thrombocytes (C) 9r=EEe
(D) Leucocytes (D) THEE
200. During muscle contraction : 200. wrEasht e % SR :
(A) Chemical energy is changed to (A) TEEFE Fel, faga et # AN
electrical energy. BT R
(B) Mechanical energy is changed to (B) aifaeht Sl wemEhies i feafa
chemical energy. BT
(C) Chemical energy is changed to (C) uEmfTH Fe, At o A g
physical energy. B B
(D) Chemical energy is changed to (D) =i i, it s A fafia
mechanical energy. B B
-00o0- -00o0-

—
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Note :

1.  This Question booklet consists of Three Parts - Physics, Chemistry and (A) Mathematics
(B) Biology. The distribution of marks in these parts are as follows.

(i)  First Part : PHYSICS - 60 Marks
(i) Second Part : CHEMISTRY - 60 Marks
(iii) Third Part : (A) MATHEMATICS - 80 Marks

(B) BIOLOGY - 80 Marks

First & Second parts are compulsory. Candidates are directed to choose only one subject
from Third Part (A) and (B).
- Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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